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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 1,423 290 26 0 79.4 + 2.2 (8.6 - 77.3)
1 -2 1,107 148 14 0 68.7 + 2.5 € 71.2 - 66.3)
BB 2-23 945 104 15 0 61.1 £ 2.6 ¢ 63.7 - 68.6)
3 -4 826 67 29 0 66.1 + 2.7 ( 58.7 - 63.4 )
4 -6 730 a9 51 0 53.0 + 2.7 ¢ 65.7 - 50.3 )
5 - 640 640
TOTAL 1,423 648 135 640
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rx2SE 5% STD ERROR
0 -1 1,281 249 19 0 80.4 + 2.2 ( 82.6 - 78.2)
1 -2 1,013 153 15 0 68.2 + 2.6 ( 70.8 - 65.6 )
¥EB - 2-3 845 82 18 0 61.6 + 2.8 ( 64.2 - 68.7)
3 -4 745 54 16 0 67.0 £ 2.8 ( 9.8 - 54.2 )
4-5 676 27 45 0 64.6 + 2.8 ( 67.6 - 51.8 )
65 - 603 603
TOTAL 1, 281 566 113 603
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 1,772 291 21 0 83.5 + 1.8 (85,2 - 81.7)
1 -2 1,460 245 13 0 69.4 £ 2.2 C 71.6 - 67.2)
EE-5B 2-3 1,202 141 20 0 61.2 + 2.3 (¢ 63.5 - 58.9 )
3-4 1,041 112 38 0 64.5 + 2.4 ( 56.9 - 52.1 )
4 -5 891 70 62 0 BO.1 + 2.4 C B2.5 - 47.6)
5 - 759 759
TOTAL 1,772 859 164 759
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,207 185 27 0 84.5 + 2.1 ( 86,6 - 82.4 )
" 1 -2 995 142 5 0 72.4 + 2.6 € 76.0 - 69.8)
. 2-3 848 103 8 0 63.6 + 2.8 ( 66.4 - 60.8 )
B - & 3 -4 737 59 18 0 §8.4 * 2.9 ( 61.3 - 66.5)
4 -5 660 r 48 0 66.3 + 2.9 ( 58.2 - 62.4 )
5 - 578 578
TOTAL 1,207 523 106 578
16—1 SURVIVAL RATE BB Ben=14200— o
H P=0. 01 = P=0, 05 %E‘j(:ﬁl?al Secncen -
o] R T o S — o
x B - %0=1207 o — — o}
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV, R+ 2SE 5% STD ERROR
0-1 19 8 0 0 67.9 £ 22.7 (80.6 - 35.2)
1 -2 11 2 0 0 47.4 £ 22,9 (¢ 70.3 - 24,5)
%%'% 2-3 ] 0 0 0 47.4 £ 22,9 (€ 70.3 - 24.56)
3 -4 9 0 0 0 47.4 £ 22.9 ( 70.3 - 24.6)
4 -5 9 0 1 [+} 47.4 £ 22.9 (70.3 - 24.5)
5 - 8 8
TOTAL 18 10 1 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 16 6 0 ] 68.8 £ 23.2 (91.9 - 45.6 )
1 -2 11 2 0 0 66.3 + 24.8 (81.1 - 31.4)
%%-ﬁ' 2 -3 9 2 0 1] 43.8 + 24.8 ( 68.6 - 18.9)
3 -4 7 0 1 0 43.8 + 24.8 (68.6 - 18,9)
4 - 5 6 0 1 ] 43.8 + 24.8 <(68.6 - 18,9)
5 - 5 6
TOTAL 16 9 2 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 31 8 1 0 73.8 £ 15.9 (89.7 - §7.8 )
1 -2 22 4 1 0 60.0 £ 17.9 (78.0 - 42.1)
EE%.% 2 -3 17 3 0 0 49.4 + 18.6 ( 67.9 - 31.0)
3 -4 14 2 0 0 42.4 x 18.3 (60.7 ~ 24.0)
4 -6 12 2 1 0 35.0 £ 17.9 (562.9 - 17.1)
6 - 2] 9
TOTAL 31 19 3 9
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 34 7 0 0 79.4 £ 13.9 (93.3 - 65.6)
1 -2 27 6 o] 0 61.8 £ 16.7 ( 78.4 - 45.1)
E%.ﬁ- 2 -3 21 1 0 0 68.8 £ 16.9 ( 76.7 - 41.9)
3 -4 20 4 0 0 47.1 £ 17.1 ( 64.2 - 29.9)
4 - 65 16 0 1 0 47.1 + 17.1 ( 64.2 - 29.9)
5 - 156 16
TOTAL 34 18 1 15
16—2 SURVIVAL RATE AW - g ipe
WM - I 2:n=
(M - P 3:in=
x [ L R HL A
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0 -1 T14 39 20 0 94.5 £+ 1.7 (86.2 - 82.7
1 -2 656 48 9 0 87.6 £ 2.5 (90.0 - 85.0
2-3 6598 40 8 0 81.6 £+ 3.0 (84.6 - 78,6
3 -4 660 36 16 0 76.2 £ 3.3 (79.4 - 72,9
4 -5 499 23 37 0 72.6 £+ 3.4 (76.0 - 69.1
5 - 439 439
TOTAL 714 186 89 438
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 207 26 3 0 87.3 + 4.6 (92.0 - 82.7
1 -2 178 13 2 0 80.9 t 5.5 (86.4 - 75.4
2 -3 163 15 4 0 73.4 £ 6.2 (79.6 - 67.2
3 -4 144 7 8 0 69.7 £ 6.6 (76.2 - 63.2
4 -6 128 7 8 0 656.8 + 6.8 ( 72.6 - 69.1
5 - 114 114
TOTAL 207 68 25 114
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 70 12 0 0 82.9 £+ 9.0 (91.9 - 73.8
1 -2 58 10 0 0 68,6 £ 11.1 (79.7 - 67.6
2 -3 48 11 0 0 52.9 = 11.9 ( 64.8 - 40.9
3 -4 37 9 2 0 39.6 £ 11.8 ( 61.4 - 27.9
4 -5 26 2 2 0 36,6 £ 11.6 (48.1 - 24.8
5 - 22 22
TOTAL 70 44 4 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 341 174 2 0 48.8 = 5.4 (54.2 - 43.4
1 -2 165 63 3 0 30.0 £ 5.0 (36.0 - 25,0
2 -3 99 35 2 0 19.3 £+ 4.3 (23.6 - 15.0
3 -4 62 14 4 0 14.8 £ 3.9 (18.7 - 10.9
4 -5 44 4 2 0 13.4 £ 3.8 (17.2 - 9.6
6 - 38 38
TOTAL 341 290 13 3s
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 46 35 1 0 23,1 £ 12,5 (36.6 - 10.6
-2 10 10 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 o 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 o] 0 0.0+ 0.0 ¢ 0.0- 0.0
5 0 0
TOTAL 46 45 1 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 676 30 13 0 86,6 £ 1.6 (97.1 - 983.9
1 -2 633 54 8 ] 87.3 £ 2.6 (89.9 - 84.7
2-3 571 36 15 0 81.7 £ 3.0 (84.8 - 78.7
3 -4 520 25 14 0 77.8 £ 3.3 (81.0 - 74,5
4 -5 481 13 34 0 76.6 £ 3.4 (C79.0 - 72,2
6 - 434 434

TOTAL 676 158 84 434

YEAR OF ALIVE AT DIED, IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP I[N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 182 22 2 0 87.8 + 4.9 (92,7 - 83.0
1 -2 168 18 3 0 77.7 £+ 6.2 (84.0 - 71.5
2-3 137 11 1 0 71.6 £+ 6.8 (78.2 - 64.7
3 -4 125 13 0 0 64.0 £ 7.2 (71.2 - 66.8
4 -6 112 8 9 0 69.3 £ 7.4 (66.7 - 61.8
5 - 956 95

TOTAL 182 72 15 95
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 82 16 1 0 80.4 + 8.8 (88.2 - 71.6
1 -2 65 13 3 0 63.9 = 10.7 ( 74.6 - 53.2
2 -3 49 8 1 0 63.4 £ 11.3 (64.6 - 42,1
3 -4 40 4 0 0 48.0 = 11.3 (59.4 - 36.7
4 -5 36 4 0 0 42,7 £ 11.3 ( 54.0 -~ 31.4
5 - 32 32

TOTAL 82 45 5 32
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 259 134 2 0 48.1 * 6.2 ( 54.3 - 41.8
1 -2 123 60 1 0 24.5 + 6.4 (28,9 - 19.1
2 -3 62 26 0 "] 14.2 + 4.4 (18.6 - 9.9
3 -4 36 10 2 0 10,2 + 3.8 (14.0 - 6.4
4 -6 24 2 1 0 9.3+ 3.7 (13.0 - 5.6
5 - 21 21

TOTAL 259 232 6 21
YEAR OF ALIVE AT :DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 45 41 1 0 7.9+ 81 (15.9 - -0.2
1 -2 3 3 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 45 44 1 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 1,021 63 11 0 93.8 £ 1.6 (95,3 - 92,3
1 -2 947 1086 9 0 83.3 £+ 2.3 (86.7 - 81.0
2-3 833 71 14 0 76.2 £ 2.7 (78.9 - 73.56
3 -4 748 68 29 0 70,2 £ 2,9 (73.1 - 67.3
4 - b 661 45 44 0 66,2 + 3.1 (68,3 - 62,2
5 - 572 572

TOTAL 1,021 342 107 672
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 241 19 8 0 92.0 £+ 3.5 (95.5 - 88.5
1 -2 214 29 1 0 79.5 £ 6.3 (84.8 - 74.2
2-3 184 30 1 0 66.6 + 6.2 (72.7 - 60.3
3 -4 153 20 6 0 57.6 £ 6.6 (64.1 - 51.1
4 -6 127 13 10 0 61.6 £ 6.7 (68.1 - 44.8
5 - 104 104

TOTAL 241 111 26 104

YEAR OF ALIVE' AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 83 23 0 0 72.3 £ 9.8 (82,1 - 62,6
1 -2 60 26 0 0 41.0 = 10.8 ( 51.8 - 30.2
2-3 34 9 0 0 30.1 = 10.1 (¢ 40.2 - 20.0
3 -4 25 8 0 0 20.6 £+ 8.9 (29.3 - 11.6
4 - 5 17 1 1 0 1.2 £+ 8.7 (27.9 - 10.6
5 - 15 16

TOTAL 83 67 1 15
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 300 127 0 0 67.7 £ 6.7 (63.4 - 62.0
1 -2 173 69 1 0 34.6 £ 5.5 (40.1 - 29.1
2-3 103 27 4 0 25.4 £+ 6.1 (€ 30.4 - 20.3
3 -4 72 22 3 0 17.4 £+ 4.6 (21.9 - 13.0
4 - 6 47 8 3 0 14.4 + 4.2 (18.56 - 10.2
6 - 36 36

TOTAL 300 253 11 36

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 64 47 1 0 26,0 £ 11,0 (37.0 - 16.0
1 -2 16 10 0 0 9.7+ 7.6 (17.3 - 2.2
2-3 6 1 0 0 8.1+ 6.9 (C15.1 - 1.2
3 -4 5 3 0 0 3.2+ 4.5 ( 7.8 - -1.3
4 -5 2 i 0 0 1.6 £ 3.2 ( 4.8 - -1.6
5 - 1 1

TOTAL 64 62 1 1

(TR R RR (R EVEVEY [VRVRVEVEY) ~ v

(VR RV RV



17-4. NEREFHYRAEFR G TR, EM. . R

fExHE R
GIBR

ARG
o3

PSS
BRI

LRSS
fBRIYIER

FFEIER

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 794 39 19 0 94.6 £ 1.7 (96,3 - 92,9
1 -2 676 64 6 0 87.0 £ 2,6 (89.5 - 84.5
2 -3 617 57 8 0 78,9 £ 3.1 (82,0 - 75.9
3 -4 662 33 13 0 74.2 + 3.3 (77.6 - 70.9
4 -6 606 18 37 0 71.4 £ 3.4 (74.8 - 68.0
6 - 4561 461

TOTAL 734 201 82 4561
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 145 14 5 0 90.2 £+ 6.0 (96.2 - 85.2
1 -2 126 14 0 0 80.2 £+ 6.7 (86.9 - 73.4
2-3 112 15 0 0 69.4 £ 7.8 (77.2 - 61.6
3 -4 97 10 2 0 62.2 £ 8.2 (70.4 -54.0
4 -5 85 7 6 0 66.9 £+ 8.4 (65.3 - 48.5
5 - 72 72

TOTAL 145 60 13 72

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 54 8 0 0 85.2 £+ 9.7 (94.9 - 75.5
1 -2 46 7 0 0 72,2 £ 12,2 (84.4 - 60.0
2-3 39 6 0 0 61.1 £ 13,3 ( 74.4 - 47.8
3 -4 33 6 3 0 49.6 * 13,7 (63.2 - 36.7
4 - 6 24 4 3 0 40.7 = 13.8 ( 54.5 - 26.9
6 - 17 17

TOTAL 54 31 6 17
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 185 80 1 0 66.6 £ 7.3 (63.9 - 49.3
1 -2 104 54 0 0 27.2 £+ 6.6 (33.8 - 20.7
2 -3 50 20 0 0 16.3 £ 5.6 «(21.8 - 10.9
3 -4 30 7 0 0 1225 £ 4.9 (17.4 - 7.6
4 -5 23 3 2 0 10.8 £+ 4.6 ( 15.4 - 6.2
5 - 18 18

TOTAL 185 164 3 18
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 47 36 0 0 23.4 £ 12,4 (35.8 - 11.1
1 -2 11 ] 0 0 4.3 £ 5,9 (10.1 - -1.6
2 -3 2 1 0 [ 2.1 £ 4.2 ( 6.3 - -2.1
3 -4 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 47 47 0 ]
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 820 47 21 0 94.2 £+ 1.6 (95.8 - 92,6
1 -2 762 45 10 0 88.6 £ 2.3 (90.8 - 86.3
2-3 697 48 8 0 82.4 £ 2.7 (85.1-179.7
3 -4 641 36 20 0 77.8 £ 3.0 (80.8 - 74.9
4 -6 586 24 44 0 74.5 + 3.1 (77.6 - 71.4
6 - 518 518

TOTAL 820 199 103 518

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 8% STD ERROR
0 -1 126 2] 2 0 83.2 £+ 6.7 (89.9 - 76.5
1 -2 103 12 2 0 73.4 £ 7.9 (8.3 - 66.5
2-3 89 11 2 0 64.2 £+ 8.7 (72.9 - 65.6
3 -4 76 4 3 0 60.8 + 8.9 (869.6 - 51.89
4 -5 69 3 4 0 68.1 £ 9.0 (67.1 - 49.1
5 - 62 62

TOTAL 126 51 13 62

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S,
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 53 7 0 0 86.8 £+ 9.3 (96.1 - 77.5
1 -2 46 12 0 0 64.2 £ 13,2 (77.3 - 51.0
2 -3 34 11 1 0 43.1 * 13.7 (56.7 - 29.4
3 -4 22 8 1 0 27.1 = 12.4 (38.5 - 14.6
4 -6 13 1 2 0 24.8 + 12.2 (37.0 - 12.6
5 - 10 10

TOTAL 53 39 4 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 324 173 2 0 46.4 =+ 6.6 (652.0 - 40.89
1 -2 149 66 2 0 25,7 £+ 4.9 (30.6 - 20.8
2-3 81 32 1 0 1656 + 4,1 (19.6 - 11.4
3 -4 48 14 4 0 10.8 £+ 3.5 (14.3 - 7.3
4 -5 30 8 0 0 7.9+ 3.1 (11.0 - 4.8
5 - 22 22

TOTAL 324 293 9 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 46 35 1 o 23.1 £ 12,6 (35.6 - 10.6
1 -2 10 10 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 C 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 46 45 1 0
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EAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE = GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 56X STD ERROR
0 -1 7656 38 14 0 94.9 £ 1.6 (96,6 - 93.3
1 -2 703 60 10 0 86.8 * 2.6 (89.3 - 84.3
2 -3 633 38 14 0 81.6 £ 2.8 (84.4 - 78.6
3 -4 681 26 13 0 77.9 £ 3.1 (81.0 - 74.8
4 -6 543 14 40 0 76.9 £ 3.2 (79.0 - 72.7
5 - 488 488
TOTAL 766 176 91 488
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROR
0 -1 111 14 1 0 87.3 £+ 6.3 (93.7 - 81.0
1 -2 96 13 2 0 76.4 + 8.2 (83.6 - 67.1
2-3 81 9 3 0 66.8 * 8.1 (76.9 - 57.8
3 -4 69 11 Y 0 66.2 £+ 8.6 ( 65.8 - 46.6
4 -5 58 6 4 0 60.2 £+ 9.8 (69.9 - 40.4
6 - 48 48
TOTAL 111 63 10 48
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 74 13 1 0 82.3 £+ 8.9 (91.2 - 73.4
1 -2 60 16 2 0 61.4 £ 11.6 ( 72.8 - 49.8
2-3 43 8 0 0 60.0 £ 11.8 ( 61.8 - 38.1
3 -4 35 6 0 0 41.4 £ 11.7 (B3.1 - 29.7
4 -6 29 6 0 0 34.3 £ 11.3 ( 45.5 - 23.0
5 - 24 24
" TOTAL 74 47 3 24
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE = 5% STD ERROR
0 -1 250 132 2 0 47.0 £ 6.3 (563.3 - 40.7
1 -2 116 66 1 0 24.2 £ 6.6 (28.7 - 18.8
2 -3 69 26 0 0 13.5 + 4.4 (C17.9 - 8.2
3 -4 33 10 2 0 9.3 £+ 3.7 C(13.0 - 5.6
4 -6 21 1 0 0 8.9 + 3.7 (12.5 - b6.2
5 - 20 20
TOTAL 250 225 6 20
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 45 41 1 0 7.9+ 81 (15.9 - -0.2
1 -2 3 3 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 ] 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 ] 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 o] 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 45 44 1 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR

et s 0-1 1,096 62 18 0 94.3 + 1.4 (957 - 92.9
&R 1 -2 1,016 100 8 0 86.0 + 2.2 ( 87.2 - 82.8
IR 2-3 908 72 14 0 76.2 + 2.6 (80.7 - 76.7
| 3-4 822 60 33 0 72.4 £ 2,7 (€ 75.1 - 68,6
4-5 729 42 52 0 68.0 + 2.8 ¢ 70.9 - 65.2
5 - 635 636
TOTAL 1,086 336 126 635
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 6% STD ERROR
-1 168 17 2 0 89.8 + 4.7 ( 94.5 - 85.1
HaEi 1 -2 149 34 0 0 69.3 x 7.2 (76.5 - 62.2
2-3 115 23 1 0 §5.4 + 7.7 (63.1 - 47.17
Yk 3 -4 91 16 0 0 46.3 £ 7.8 ( 64.0 - 38.5
4-5 76 13 4 0 38.1 £ 7.6 ( 45.7 - 30.6
5 - 59 69
TOTAL 168 102 7 59
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0-1 89 23 0 0 74.2 + 9.3 (83.4 - 64.8
itk 1 -2 66 28 0 0 42.7 + 10.5 ( 63.2 - 32.2
2 -3 a8 12 1 0 23,0 £ 9.7 (38.7-19.4
3 3-4 25 7 0 0 20.9 £ 8.7 (29,6 - 12.2
aRIER 4-5 18 4 1 0 16.1 £ 7.9 (24,0 - 8.2
5 - 13 13
TOTAL 89 74 2 13
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R*2SE 56X STD ERROR
0-1 293 129 0 0 66.0 + 6.8 ( 61.8 - 60.2
¥ xtIE 1 -2 164 69 3 0 32,2 + 6.5 (37.7 - 26.7
2-3 92 30 3 0 21.6 £ 4.9 ¢ 26.4 - 16.7
y 3-4 59 26 2 0 11.9 £+ 3.8 (1568 - 8.0
fa e YlbR 4-5 31 6 2 0 9.6+ 3.6 (13.1- 6.9
5 - 23 23
TOTAL 203 260 10 23
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 63 46 1 0 26.4 £ 11.2 (€ 37.6 - 16.2
1 -2 16 10 0 0 9.9+ 7.6 (17.6~- 2.3
FEGIER 2 -3 6 1 0 0 8.3+ 7.0 (153 - 1,2
3-4 5 3 0 0 3.3+ 4.6 ¢ 1.9 --13
4-5 2 1 0 0 1.7+ 3.3 ( 4.8 --L86
5 - 1 1
TOTAL 63 61 1 1
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD ERROR
0 -1 768 40 20 0 84.7 £ 1.8 ¢ 986.4 - 93,1
1 -2 708 56 4 0 87.2 + 2.4 C88.7 - 84.8
2-3 648 56 7 0 7.7+ 2.9 ¢ 82.6 - 6.7
3 -4 586 36 13 0 74.8 £ 8.2 ( 78.0 - 71.7
4 -5 538 18 36 0 72.3 £ 3.3 ( 75.6 - 68.0
6 - 485 485

TOTAL 769 205 79 485

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0-1 107 12 3 0 88.6 + 6.2 ( 94.8 - 82.4
1 -2 92 14 1 0 76.1 + 8.6 ( B3.5 - 66.6
2 -3 77 12 0 0 63.4 £ 9.6 ( 72.8 - 53.9
3-4 65 8 1 0 65.56 + 9.8 ( 65.3 - 45.7
4-5 56 7 6 0 48.2 £ 9.8 ( 58.1 - 38.2
5 - 43 43

TOTAL 107 53 11 43

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 54 8 1 0 86.0 £ 9.8 ( 94.8 - 75.3
1 -2 45 13 0 0 73.7 * 12.1 ¢ 86.8 - 61.6
2 -3 39 10 0 0 54.8 + 13.7 C 68.5 - 41.1
3-4 29 4 2 0 47.0 + 13.8 ( 60.8 - 33.2
4 -6 23 4 2 0 38.4 £ 13.7 ( 52.1 - 24.8
5 - 17 17

TOTAL 54 32 5 17

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 181 81 3 0 54.9 + 7.4 (62.3 - 47.4
1 -2 97 52 0 0 26.6 + 6.5 ( 32.0 - 18.9
2-3 45 20 1 0 14.0 + 6.2 (19.2 - 8.8
3a-g4 24 3 1 0 8.6 + 4.3 (12.9 - 4.4
4-5 14 2 3 0 7.3+ 4.0 (11.3 - 3.2
5 - 9 3

TOTAL 181 164 8 9

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 47 36 0 0 23.4 £ 12.4 ( 35.8 - 11.1
1 -2 11 9 0 0 4.3+ 5.8 (10.1 - -1.6
2 -3 2 1 0 0 2.1+ 4.2 ¢ 6.3 - -2.1
3-4 1 1 0 0 0.0 6.0 ¢ 0.0 - 0.0
4-5 0 0 o 0 0.0t 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 47 47 0 0
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18-1. HAlEFRGER. RE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. Rt 2SE 6% STD ERROR

0-1 2,316 285 44 0 87.1 £+ 1.4 (88.5 - 85.7
1 -2 1,977 226 29 0 77.1 % 1.8 (78.9 - 75.4
H. 2 -3 1,723 153 33 0 70,2 £ 1.8 (72.2 - 68.3
3-4 1,637 110 42 0 66.1 £ 2.0 (67.2 - 63.1
4 -5 1,385 65 96 0 62.0 + 2.1 (64.0 - 69.89
5 - 1,224 1,224
TOTAL 2,316 848 244 1,224
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:t2SE 656X STD ERROR
0-1 116 48 0 0 68.3 £ 9.2 ( 67.5 ~ 49.1
1 -2 67 31 0 0 31.3 £+ 8.6 ( 40.0 - 22.7
H, 2 -3 36 13 0 0 20.0 £+ 7.5 (27.5 - 12.6
3 -4 23 8 1 0 12.8 + 6.3 (19,2 - 6.6
4 -5 14 1 0 0 1220 £ 6.1 ¢ 18,1 - 5.9
5 - 13 13
TOTAL 116 101 1 13 "
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 6% STD ERROR
0-1 111 64 1 0 42.1 + 9.4 (51.5 - 32.7
1 -2 46 23 0 0 21.0 £ 7.8 (28.8 - 13.3
H, 2-3 23 14 0 0 8.2 + 6.3 (13.6 - 3.0
3 -4 9 2 2 0 6.2+ 4.7 €10.8 - 1.6
4-6 5 0 0 0 6.2 £ 4.7 ¢10.9 - 1.5
5 - 6 5
TOTAL 111 103 3 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV.R:t2SE 5% STD ERROR
0-1 162 132 0 0 18.6 £+ 6.1 (¢ 24.6 - 12.4
1 -2 30 22 0 0 4.9+ 3.4 ¢ B.3~- 1.5
H, 2 -3 8 6 0 0 1.2+ 1.7 ¢ 3.0- -0.5
-4 2 1 0 0 0.6 £+ 1.2 C 1.8 -~ -0.6
4 -5 1 0 0 0 0.6 + 1.2 ¢ 1.8 - -0.6
B = 1 1
TOTAL 162 161 0 1
- SURVIVAL RATE HO:n=2316 o————o
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 2,675 300 47 0 88.7 £ 1.2 (89.9 - 87.5
1 -2 2,328 317 18 0 76.6 £ 1.7 (78.2 - 74.8
2-3 1,993 223 26 (] 67.9 £ 1.8 (69.8 - 66.1
3 -4 1,744 167 66 0 61.7 £ 1.9 (63.6 - 69.8
4 - 6 1,632 102 108 0 67.56 £ 2.0 (569.4 - B66.5
5 - 1,322 1,322

TOTAL 2,676 1,099 2564 1,322
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 105 39 1 0 62.7 £ 9.6 (72.1 - 53.2
1 -2 66 29 0 0 34.7 £ 9.3 (44,1 - 25.4
2-3 36 14 2 0 20.8 =+ 8.0 (28.9 - 12.8
I -4 20 8 0 0 12,6 + 6.6 (19.1 - 6.8
4 -6 12 1 0 0 11.6 + 6.4 (C17.9 - 6.1
5 - 11 11

TOTAL 105 g1 3 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 90 48 0 0 46.7 = 10.6 (¢ 57.2 - 36.1
1 -2 42 24 0 0 20.0 + 8.4 (28.4 - 11.6
2 -3 18 6 0 0 13.3 £ 7.2 (20.5- 6.2
3 -4 12 5 1 0 7.6 £+ 6.6 (13.2 - 1.9
4 -6 6 1 2 0 6.0 £ 6.2 (11.3 - 0.8
6 - 3 3

TOTAL 90 84 3 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 109 89 0 0 18.3 £ 7.4 ( 25.8 - 10.9
1 -2 20 17 0 0 2.8+ 3.1 ¢ 6.8 - -0.4
2 -3 3 1 Q [ 1.8 £+ 2.6 ( 4.4 - -0.7
3 -4 2 1 0 0 0.9+ 1.8 ¢ 2.7 - -0.9
4 -6 1 0 0 0 0.9+ 1.8 ¢ 2.7 - -0.9
6 - 1 1

TOTAL 109 108 0 1
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19-1. PRIEFRGERH. RE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R*2SE 6% STD ERROk
0 -1 2,374 350 4 0 86.1 £ 1.5 ( 86.6 - 83.7
1 -2 1,983 240 27 0 7.8+ 1.8 ( 76.6 - 73.0
2 -3 1,716 167 32 0 67.4 + 1.9 ( 69.4 - 65.5
3 -4 1,517 110 44 0 62.6 £ 2.0 C 64.5 - 60.4
4-5 1,363 59 84 0 69.7 £+ 2.1 ( 61.7 - 6T.6
5 - 1.210 1,210

TOTAL 2,374 926 238 1.210

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 108 48 4 0 B4.7 £ 9.7 (¢ 64.4 — 45.0
1 -2 56 21 1 0 34.0 £ 9.3 ¢ 43.3 - 24.7
2 -3 34 7 0 0 27.0 £ 8.8 ¢ 35.8 - 18.2
3-4 27 5 0 0 22.0 + 8.2 ( 30.2 - 13.8
4 -5 22 5 1 0 16.9 + 7.5 ¢ 24.4 - 9.4
5 - 16 16

TOTAL 108 86 6 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 96 60 0 0 37.5+ 9.9 (47.4 - 27.6
1 -2 36 18 0 0 18.8 + 8.0 ¢ 26.7 - 10.8
2 -3 18 6 1 0 12,3 + 6.7 €19.1 - 5.6
3 -4 11 4 ) 0 7.8+ 6.6 (13.4 - 2.3
4-5 ) 0 0 0 7.8+ 6.6 (13.4 - 2.3
5 - 7 7

TOTAL 96 88 1 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0 -1 96 68 0 0 29.2 £ 9.3 ¢ 38.4 - 19.9
1 -2 28 17 1 0 11.1 £ 6.5 C17.6 - 4.7
2-3 10 5 0 0 6.6 £ 4.8 ( 10.3 - 0.8
3-4 5 1 0 0 4.6+ 4.3 ¢ 8.8 - 0.1
4-5 4 2 0 0 2.2+ 81 ¢ 65.3--0.9
6 - 2 2

TOTAL 96 93 1 2
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19-2. PRIEFR(EH. B

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 5% STD ERROR

0-1 2,728 367 47 o 86.4 + 1.3 (87.7 - 85.1)
P 1 -2 2,314 345 16 0 73.6 1.7 (C(75.2-71.8)
0 2-3 1,953 227 27 0 64.9 £+ 1.8 (66.7 - 63.0)
3 -4 1,699 166 50 0 68.9 £+ 1.9 (60.8 - 57.0)
4 -6 1,494 101 104 0 64.8 £+ 1.8 (66,7 - 62.8)
6 - 1,289 1,288
TOTAL 2,728 1,196 244 1,289
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 98 41 1 0 68.4 £+ 8.9 (68.3 - 48.4)
1 -2 67 26 ] 0 31.7 £ 8.4 (41.2 - 22.3)
Pl 2 -3 31 10 0 0 21,6 + 83 (29.8 - 13.2)
3 -4 2] 7 2 [ 140 7.1 (21.1 - 6.9)
4 -5 12 2 1 [ 1.6 £ 6.6 (18.2 - 4.9)
6 - 9 9
TOTAL 99 86 4 9
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROR
0 -1 32 22 0 0 31.3 £ 16,4 ( 47.6 - 14.8 )
1 -2 10 3 0 0 21.9 + 14,6 (36.6 - 7.3)
Pz 2 -3 7 2 0 0 16.6 £ 12.8 (28.6 - 2.8)
3 -4 5 3 1 0 6.2 + 8.2 (13.4 - -2.9)
4 -5 1 0 1 0 5.2 + 8.2 (13.4--2,9)
5 - 0 0
TOTAL 32 30 2 1]
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 28 19 0 0 32.1 = 17.7 ( 49.8 - 14.56 )
1 -2 9 7 0 0 7.1 £ 9.7 (16.9 - -2,6 )
P3 2 -3 2 1 0 0 3.6 £+ 7.0 (10.6 - -3.4)
3 -4 1 0 0 0 3.6 £ 7.0 (10.6 - -3.4)
4 -5 1 0 0 0 3.6 7.0 (C10.6 - -3.4)
&5 - 1 1
TOTAL 28 27 0 1
19—-2 SURVIVAL RATE PO:n=2720 0 o
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVF GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 2,573 466 43 0 81.7 £ 1.5 (833 - 80.2)
1 -2 2,064 281 29 0 70.6 £+ 1.8 (72,3 - 68.7)
2 -3 1,764 177 32 0 63.. £ 1.9 (65,3 - 61.4)
3 -4 1,545 117 46 0 t..oxt 2.0 (60.56 - 66.5)
4 - 6 1,383 65 96 V] 66.6 £ 2.0 (¢ B67.6 - 63.6)
6 - 1,223 1,223

TOTAL 2,673 1,106 244 1,223

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 62 41 0 0 33.9 £ 12,0 ( 45.9 - 21.8)
1 -2 21 10 0 0 17.7 £ 9.7 (27,4 - 8.0)
2-3 11 4 0 0 11.3 £+ 8.0 (19.3 - 3.3)
3 -4 7 1 0 0 9.7+ 7.6 C17.2 - 2.2)
4 - 6 6 0 0 0 9.7+ 7.5 (171.2 - 2.2)
6 - 6 6

TOTAL 62 656 0 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 2,867 413 48 0 86.4 £ 1.3 (B6.7 - 84.1)
1 -2 2,396 369 16 0 72.2 £+ 1.7 (€ 73.9 - 70.5)
2-3 2,011 237 27 [} 63.7 £+ 1.8 (66,56 - 61.8)
3 -4 1,747 164 66 0 67.6 £ 1.8 (69.56 - 65.7)
4 -5 1, 628 103 109 o] 63.6 £ 1.9 (66,6 - 61.7)
6 1,316 1,316

TOTAL 2,857 1,286 256 1,316

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 56X STD ERROR
0-1 62 31 0 0 40.4 £ 13.6 ( 64.0 - 26.8)
1 -2 2] 11 0 0 19.2 + 10.9 (¢ 30.2 - 8.3)
2-3 10 3 0 0 13.6 £ 8.6 (22,9 - 4,0)
3 -4 7 3 ] 0 7.7 7.4 (C16.1 - 0.3)
4 - 5 4 1 0 0 5.8+ 6.6 (12.2 - -0.7)
6 - 3 3

TOTAL 52 49 0 3
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING |INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 700 61 16 0 81.2 £+ 2,2 (93.3 - 89.0
1 -2 623 66 13 0 83.1 £+ 2.9 (85.9 - 80.2
2 -3 656 40 11 0 77.0 £ 3.2 (80.2 - 73.8
I -4 6504 26 10 0 73.1 = 3.4 (76.6 - 69.7
4 -6 469 17 28 0 70.4 £ 3.6 (74.0 - 66.89
6 - 424 424

TOTAL 700 198 78 424

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 821 94 18 0 88.4 £+ 2,2 (90.7 - 86.2
1 -2 708 90 7 0 77.1 = 3.0 (80.1 - 74.2
2-3 612 69 11 0 69.6 £+ 3.3 (72.9 - 66.4
3 -4 6542 45 18 0 63.8 + 3.4 (67.2 - 60.3
4 -6 479 26 39 0 60.2 £ 3.6 (63.7 - 56.6
6 - 414 414

TOTAL 821 314 93 414

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 631 128 6 o] 79.6 £ 3.2 (82.8 - 76.4
1 -2 497 74 6 0 67.7 £ 3.7 (71.4 - 64.0
2-3 418 63 6 0 69.1 £ 3.9 (63.0 - B65.1
3 -4 359 27 14 0 64.6 £ 4.0 ( 68.5 - 50.5
4 -6 318 16 23 0 61.7 £ 4.0 (66.7 - 47.6
6 - 279 279

TOTAL 631 298 54 279
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 284 100 2 0 64.7 £ 6,7 (70.3 - 69.0
1 -2 182 48 2 0 47.5 =+ 6.0 ( 63.5 - 41.6
2 -3 132 18 2 0 41.0 £+ 5.9 (46.9 - 35.1
3 -4 112 16 2 0 35.4 £ 6.7 (41.2 - 29.7
4 -5 96 3 7 0 34.3 £ 5.7 (40.0 - 28.6
5 - 85 86

TOTAL 284 184 15 85

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 160 87 2 0 41.6 =+ 8.1 (49.7 - 33.5
1 -2 61 19 2 0 28.4 £+ 7.4 (36.9 - 21.0
2 -3 40 11 0 0 20.6 * 6.7 (¢ 27.3 - 13.89
3 -4 29 7 1 o] 16.6 =+ 6.1 (21.6 - 9.5
4 -6 21 2 0 0 14.1 + 6.8 (19.8 - 8.2
6 - 19 19

TOTAL 1560 126 5 19
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21-2. Npl&EFR(ER. RE

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW~UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 1,133 80 21 0 92.9 £+ 1.5 (954.4 - 91.3
1 -2 1,032 16 13 0 86.1 £+ 2.1 (88.2 - 84.0
2 -3 944 77 16 0 7.0 £ 2.5 (81.5 - 76.6
3 -4 8562 60 25 0 73.4 £+ 2.7 (76.0 - 70.7
4 -5 767 41 60 0 69.3 £ 2.8 (721 - 66.5
6 - 666 666

TOTAL 1,133 333 134 666

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 821 97 21 0 88.0 =+ 2.3 (90.3 - 85.8
1 -2 703 120 2 0 73.0 £ 3.1 (76.1 - 69.8
2-3 581 70 ] 0 64.1 = 3.4 (67.56 - 60.7
3 -4 502 61 14 0 67.6 £+ 3.6 (61.0 - 54.0
4 -6 437 32 30 0 63.2 £ 3.6 (B66.7 - 49.6
6 - 376 375

TOTAL 821 370 76 375

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-~UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 619 118 3 0 80.9 £ 3.2 (84.0 - 77.7
1 -2 496 114 2 0 62.2 £+ 3.9 (66.2 - 58.3
2 -3 380 13 3 0 60.2 £+ 4.0 (64.3 - 46.2
3 -4 304 43 13 0 43.0 £ 4.0 ( 47.0 - 39.0
4 -6 248 24 12 0 38.7 £ 4.0 ( 42.7 - 34.7
5 - 212 212

TOTAL 618 372 35 212

YEAR OF ALIVE AT« DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR

0 -1 170 56 1 0 67.0 £ 7.2 ( 74.2 - 569.7
1 -2 113 44 0 0 40.9 £+ 7.6 ( 48,5 - 33.3
2 -3 69 10 0 0 35.0 £ 7.3 ( 42.3 - 27.6
3 -4 59 9 1 0 29.6 £+ 7.0 (36.6 - 22.6
4 -6 48 7 3 0 26,2 £+ 6.7 (31.8 - 18.5
6 - 39 39

TOTAL 170 126 5 39

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 91 56 0 0 38.5 £ 10.2 (48,7 - 28.3
1 -2 35 22 0 0 14.3 £+ 7.3 (¢ 21.6 - 6.9
2 -3 13 4 0 0 9.9 £+ 6.3 (16.1 - 3.6
3 -4 9 3 0 0 6.6 £ 6.2 (11.8 - 1.4
4 -5 6 0 1 0 6.6 + 6.2 (11.8 - 1.4
5 - 6 5

TOTAL 91 85 1 8
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22-1. njlEFRER. RE

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 1,407 166 32 0 88,1 £ 1.7 (89.8 ~ 86,3
1 -2 1,209 108 16 0 80,1 £ 2.1 (82,3 -780
2 -3 1,086 70 16 0 74.9 £ 2,3 (77.3 - 72,86
3 -4 1,000 67 29 0 70.6 £ 2.6 (73.1 - 68.1
4 -6 S14 a3 60 0 68,0 £ 2.6 (70.5 - 65.4
6 - 821 821

TOTAL 1,407 434 162 821

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 650 1] 7 0 83.9 + 3.1 (87.0 - 80.8
1 -2 456 71 S 0 70.7 £ 3.9 ( 74.6 - 66.8
2 -3 379 66 7 0 60.4 £ 4.2 (64.6 — 56.2
3 -4 317 23 8 0 66,9 £+ 4.3 (60.2 - 61.6
4 -5 286 14 28 0 63.1 + 4.3 (57.4 - 48.7
6 - 244 244

TOTAL 660 2561 66 244

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 336 94 2 ] 71.9 + 4.9 (76.8 - 67.0
1 -2 240 62 6 0 66.2 £+ 6.4 (61.6 - 60.7
2-3 182 27 4 0 47.7 £ 5.6 (63.2 - 42.2
3 -4 161 18 4 0 42.0 =+ 6.5 ( 47.4 - 36.5
4 -5 129 11 6 0 38.3 £ 5.4 (43.7 - 32.9
6 - 112 112

TOTAL 336 202 22 112

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 149 57 1 0 61.6 + 8.0 (69.6 - 63.6
1 -2 S1 27 1 0 43.2 £ 8.2 (61.4 - 36,1
2-3 63 14 3 0 33.4 £ 7.8 (41.2 - 25.6
3 -4 46 10 0 0 26.1 £ 7.3 (33.5 - 18.8
4 - 5 36 2 2 0 24.6 £ 7.2 (31.9 - 17.4
5 - 32 32

TOTAL 149 110 7 32

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 69 35 1 0 48.9 + 12,1 (61.0 - 36.8
1 -2 33 14 1 0 27.8 £ 10.9 (38.8 - 16.9
2-3 18 5 0 0 20,1 £+ 9.8 (29.9 -10.3
3 -4 13 4 1 0 13.7 £+ 856 (22,2 - 6.1
4 -5 8 1 "] 0 12.0 £+ 8.1 (20.1- 3.8
5 - 7 7

TOTAL 69 69 3 7

~ v [CRVRVEVR V] ~ [VRVR VRV

(R RVEVRV]



No

n:

22-2. nHlEFR(EMN. FE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 1,676 145 28 0 90.7 + 1.6 (92.2 - 89.2
1 -2 1,402 124 12 0 82.7 £ 1.9 (84.6 - 80.7
2-3 1, 266 89 20 0 76.8 + 2.2 ( 79.0 - 74.6
3 -4 1,167 78 40 0 71.6 £+ 2.3 (73.8 - 69,2
4 -6 1,038 48 70 0 68.1 + 2.4 (70.5 - 65.7
5 - 921 921

TOTAL 1,676 484 171 921

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 628 88 16 0 86.8 + 2.8 (88.6 - 83.0
1 -2 626 103 4 0 68.9 £+ 3.7 (72.7 - 65.2
2 -3 418 69 4 0 67.6 £ 4.0 (61.6 - 63.5
3 -4 346 42 8 0 60.4 £ 4.1 (64.5 - 46.3
4 -5 296 27 25 0 45.6 =+ 4.1 ( 49.7 - 41.6
5 - 243 243

TOTAL 628 329 66 243

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 432 90 3 0 79.1 £ 3.9 (83.0 - 75.2
1 -~ 2 338 91 1 0 57.8 + 4.8 (62.6 - 63.1
2 -3 247 57 4 0 44.4 £+ 4.8 ( 49.2 - 39.6
3 -4 186 37 4 0 36.5 £ 4.7 ( 40.1 - 30.8
4 -5 1456 24 11 0 29.4 £+ 4.5 (33.8 - 24.9
5 - 110 110

TOTAL 432 299 23 110

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 6% STD ERROR
0 -1 122 44 0 0 63.9 + 8.7 (72.6 - 55,2
1 -2 78 39 0 0 32.0 + 8.4 (40.4 - 23.5
2-3 39 13 0 0 21.3 x 7.4 (28.7 - 13.8
3 -4 26 8 0 0 13.9 + 6.3 (¢20.2- 7.7
4 -5 17 5 1 0 9.7+ 6.4 (C(16.1 - 4.3
5 - 11 11

TOTAL 122 110 1 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 53 29 0 o] 45.3 + 13.7 ( §8.0 - 31.6
1 -2 24 12 0 0 22.6 = 11.6 (34.1 - 11.1
2 -3 12 6 0 0 11.3°+ 8.7 (20.0 - 2.6
3 -4 6 4 0 0 3.8+ 6.2 ( 9.0 --1.6
4 -5 2 0 0 0 3.8+ 6,2 ( 9.0 --1.6
5 - 2 2

TOTAL 53 51 0 2
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23-1. REEFNEFRGER. BT

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROR
0 -1 69 3 1 0 94.8 £+ 5.8 (100.6 - 89,1
1 -2 656 1 0 0 83.1 £+ 6.6 (99.8 - 86,5
2 -3 64 0 0 0 83.1 £ 6.6 (99,8 - B6.5
3 -4 64 2 3 ] 89.6 + 8.0 (97.6 - B1.6
4 -6 49 2 1 0 86.8 £+ 8.3 (96.2 - 76.6
5 - 46 46

TOTAL 68 8 6 46

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
0 -1 81 2 4 0 97.6 + 3.6 (101.0 ~ 93.9
1 -2 76 4 2 0 92,2 £+ 6.1 (98,3 - 86.1
2 -3 69 1 0 0 80.9 &+ 6.6 (97.5 - 84.3
3 -4 68 2 2 0 88.2 £ 7.4 (95.6 - 80.7
4 -6 64 1 4 0 86.7 £+ 7.8 (84.6 - 78.9
6 - 69 69

TOTAL 81 10 12 69

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 186 18 9 0 80.1 + 4.4 (94.5 - 85.6
1 -2 169 6 3 0 86.7 £ 6.1 (91.7 - 81.6
2 -3 160 6 2 0 83.2 + 6.6 (88.8 - 77.5
3 -4 142 7 5 o] 79.0 £ 6.2 (85.1 - 72.8
4 -6 130 7 6 0 74.6 £ 6.6 (81.3 - 68.0
5 - 117 117

TOTAL 186 44 25 117

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 942 126 16 0 86.6 £+ 2.2 (88.8 - 84.4
1 -2 801 89 13 0 76.9 + 2.8 (79.7 - 4.1
2-3 699 76 13 0 68,6 £+ 3.1 (71.6 - 65.4
3 -4 610 47 18 0 63.1 £ 3.2 (66,3 - 59.9
4 - b 5456 25 44 0 60.1 £+ 3.3 (63.4 - b66.8
5§ - 476 476

TOTAL 842 362 104 476

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1,001 212 11 0 78.7 £ 2.6 (81.3 - 76.1
1 -2 778 127 8 0 66.8 £ 3.0 (68.8 - 62.8
2 -3 643 7 15 0 67.8 £ 3.2 (61.0 - 54.7
3 -4 661 48 7 0 62,7 £ 8.2 (566.9 - 49.6
4 -5 496 20 38 0 60.6 £ 3.2 (63.7 - 47.3
6 - 438 438

TOTAL 1,001 484 79 438

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 216 75 1 0 66.2 + 6.6 ( 71.7 - 68.7
1 -2 140 42 1 4] 46.6 + 6.8 (52,4 - 38.8
2-3 97 17 1 4] 37.6 =+ 6.6 ( 44.2 - 30.9
3 -4 79 9 6 0 33.1 £+ 6.6 (39.6 - 26.6
4 -6 64 4 3 0 31.0 + 6.4 (37.4 - 24.6
6 - 57 57

TOTAL 216 147 12 57
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23-2. REBHNEFX(ER. KRS

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 84 2 1 0 97.6 + 3.3 (101.0 - 94.3
1 -2 81 2 1 0 86.2 + 4.7 (99.9 - 90,56
2 -3 78 K] 0 0 91,6 £ 6.1 (87.7 - 85.4
3 -4 76 0 2 0 91,6 £ 6.1 (97.7 - 85.4
4 -6 73 0 6 0 81.6 £+ 6.1 (97.7 - 85.4
6 - 67 67

TOTAL 84 7 10 67

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 148 s 1 ] 96.6 £+ 3.0 (99,6 - 93.6
1 -2 142 9 1 0 90.6 * 4.8 ( 95.3 - 85.6
2 -3 132 4 2 0 87.7 + 6.4 (93,1 - 82,3
3 -4 126 7 4 0 82,8 + 6.3 (89.0 - 76.56
4 -5 1186 2 8 0 81.3 £ 6.6 (87.8 - 74.7
6 - 106 106

TOTAL 148 27 16 106

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 508 28 12 0 94.4 =+ 2.0 (96.5 - 92.4
1 -2 469 25 4 0 89.4 £+ 2.8 (92.1 - 86.6
2 -3 440 22 6 0 84.9 £+ 3.2 (88,1 - 81.7
3 -4 412 18 13 0 81.1 =+ 3.B (84.6 - 77.6
4 -6 381 22 23 0 76.3 £ 3.9 (80.2 - 72.4
6 - 336 336

TOTAL 509 1186 58 336
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 7456 81 18 0 89.0 £+ 2.3 (91.3 - 86.7
1 -2 646 81 4 0 77.8 £ 3.1 (80.9 - 74.7
2 -3 661 64 3 0 68.9 £ 3.4 (72.3 - 65.4
3 -4 492 61 18 0 61.6 *+ 3.6 (65.2 - b68.0
4 -5 423 21 30 o] 68.4 £+ 3.7 (62.1 - 654.7
5 - 372 372

TOTAL 745 298 78 372

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
[ 1 1,042 184 11 0 82.2 £+ 2.4 (84.6 - 79.9
1 -2 847 186 5 0 64.1 £ 3.0 (C67.1 - 61.1
2 -3 656 118 13 0 62.4 £+ 3.1 (66.56 - 49,3
3 - 4 6524 67 16 0 45.6 £ 3.1 ( 48.7 - 42,56
4 -5 442 46 36 0 40.6 £+ 3.1 ( 43.8 - 37.5
6 - 361 361

TOTAL 1,042 602 79 361

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rz 2SE 6% STD ERROR
0 -1 2156 64 2 0 70.1 + 6.3 ( 76.4 - 63.8
1 -2 149 52 1 0 46.6 + 6.8 ( 52.4 - 38.7
2 -3 96 21 1 0 36.5 + 6.6 (42.1 - 29,0
3 -4 74 17 2 0 27.3 £ 6.2 (33.4 - 21.1
4 -6 66 9 ] 0 22,6 + 6.8 ( 28.4 - 16.8
6 41 41

TOTAL 215 163 11 41
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24-1. Ef-BARENEFRGEEH. T

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:*2SE 6% STD ERROR
HNRERN 0 -1 11 0 0 0 100.0 £+ 0.0 <¢100.0 =-100.0
e . 1 -2 11 0 0 0 100.0 £+ 0.0 <¢100.0 -100.0
RYR7 2-23 11 0 1 0 100.0 £ 0.0 <100.0 -100.0
; 3-4 10 1 0 0 90.0 + 19.0 (€108.0 - 71.0
F3I— 4-5 9 1 0 0 80.0 £ 26.3 (105.3 - 4.7
5 - 8 8
TOTAL 11 2 1 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0 -1 2,662 514 44 0 80.5 + 1.6 € 82,1 - 79,0
1 -2 2, 104 300 29 0 69.0 + 1.8 ¢ 70.8 - 67.2
PSIEX 2 -3 1,775 186 a2 0 61.7 + 1.8 <« 63.6 - 569.8
3 -4 1,557 1189 45 0 56.9 + 2.0 ( 58.8 - 54.9
4-5 1.393 64 96 0 54.2 + 2.0 ( 56.2 - 52.2
5 - 1,233 1,233
TOTAL 2,662 1,183 246 1,233
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 24 20 1 0 14.9 + 14.7 € 29.6 - 0.2
Z DA 1 -2 3 1 0 0 9.9 + 12.7 ¢ 22.6 - -2.8
(b, B 2:-°9 2 0 0 0 9.9 £ 12.7 ( 22.6 - -2.8
) 3-4 2 0 0 0 9.9 + 12.7 ( 22.6 - -2.8
; N 4-56 2 0 0 0 9.9 + 12,7 (22.6 - -2.8
1’37’1&) 5 - 2 2
TOTAL 24 21 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 65X STD ERROR
0-1 7 5 0 0 28.6 + 34.1 € 62.7 - 5.6
1 -2 2 0 0 0 28.6 + 34.1 ( 62.7 - -5.6
s 2-3 2 0 0 0 28.6 £ 34.1 ( 62.7 - -5.6
Bk L 3-4 2 1 0 0 14.3 + 26.5 € 40.7 —-12.2
4-5 1 1 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 7 7 0 0
SURVIVAL RATE ks e
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24-2. EI-ZAMERNEFR(ER. BB

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

LKA o) 0-1 11 2 0 0 81.8 + 23.3 (105.1 - 8.6
1 -2 9 0 2 0 81.8 + 23.3 (105.1 - 58.6
Ry 2-3 7 o 0 0 81.8 + 23.3 (105.1 - 68.6
3-4 7 0 0 0 81.8 + 23.3 (105.1 - 58.6
bi— 4-5 7 0 1 0 81.8 + 23.3 (105.1 - 68.6
5 - 6 6
TOTAL 11 2 3 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 2,903 435 48 0 84.9 + 1.3 ¢ 86.2 - 83.6
1 -2 2, 420 378 16 0 71.6 + 1.7 ¢ 73.3 - 69.9
NELF 2-3 2,026 242 28 0 63.0 + 1.8 < 64.8 - 61,2
3-4 1,766 168 56 o 56.9 + 1.9 (¢ 58.7 - §5.0
4-5 1,633 102 107 0 52.9 + 1.9 ( 54.8 - 51.0
5 - 1,324 1,324
TOTAL 2,903 1,325 254 1,324
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0-1 43 28 0 0 34.9 + 14.5 ( 49.4 - 20.3
Z DAh 1 -2 15 8 0 0 16.3 + 11.3 ¢ 27.5 - 6.0
2 -3 1 1 o 0 14.0 + 10.6 ¢ 24.5 - 3.4
(e, % -4 6 2 1 0 8.9+ 88 (17.7 - 0.0
. . 4 -5 3 1 0 0 5.9+ 7.6 ¢ 13.6 - -1.7
B e) 6 - 2 2
TOTAL 43 40 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 56X STD ERROR
0-1 22 11 0 0 60.0 + 21.3 ( 71.3 - 28.7
. 1 -2 11 1 0 0 46.6 £ 21.2 ¢ 66.7 - 24.2
gL 2-29 10 1 0 0 40.9 % 21.0 (C61.9 - 19.9
3 -4 9 1 0 0 36.4 + 20.5 ( 56,9 - 15.9
4-5 8 1 2 0 31.2 £ 20.0 ¢ 51.2 - 11.1
5 - 5 5
TOTAL 22 16 2 5
SURVIVAL RATE RAEMNELIRT P i— inm 1l oo
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 646 36 16 0 94,4 £ 1.8 (96.2 - 92,6
1 -2 594 46 13 (1] 87.0 £ 2.7 (89.7 - 84.3
2-3 536 30 11 0 82,0 £ 3.1 (C(8p.1-179.0
3 -4 494 22 10 0 78.4 £+ 3.3 (81.7 - 75.0
4 -6 462 17 28 0 76.4 £+ 3.5 (78.9 - 71.9
6 - 417 417

TOTAL 646 161 78 417

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0-1 1,057 67 20 0 94.6 * 1.4 (96.0 - 93.2
1 -2 980 66 12 0 88.1 £+ 2.0 (90.2 - 86.1
2-3 902 70 13 0 81,3 £+ 2.4 (83.7 - 78.8
3 -4 819 61 28 0 76.1 £ 2,7 (78.8 - 73.4
4 -6 743 39 59 0 72,0 £ 2.8 (74.8 - 69.1
65 - 645 645

TOTAL 1,087 283 129 645

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 690 36 10 0 94.7 £ 1.7 (96.4 - 93,0
1 -2 644 38 10 0 89.1 £+ 2.4 (91.5 - 86.7
2-3 696 32 11 0 84.3 £+ 2.8 (87.1 - 81,6
3 -4 553 26 14 0 80.3 £ 3.1 (83.3-77.2
4 -6 5§13 13 23 0 78.2 £+ 3.2 (81.4 - 75.0
65 - 4717 477

TOTAL 690 146 68 477
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0 -1 729 36 7 0 96.2 £ 1.6 (96.8 - 93.6
1 -2 687 48 6 0 88.5 + 2.4 (90.9 - 86.1
2 -~3 633 38 10 0 83.1 £+ 2.8 (85.9 - 80.3
3 -4 586 32 13 0 78.6 £ 3.1 (81.6 - 75.5
4 - 5 540 17 30 0 76.0 £ 3.2 (79.2 - 172.8
6 - 493 493

TOTAL 729 170 66 493

SURVIVAL RATE NOKEM: n= 646 0— o

% P=0, 01 «P=0.05
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26-1. BEEREFER(H.. Po.Mo. No M)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 44 2 1 0 86.4 + 6.4 (101.8 - 89,1
1 -2 41 1 0 0 83.1 £ 7.7 (100.8 - 85.4
2 -3 40 0 0 0 93.1 £ 7.7 (100.8 - 85.4
3 -4 40 0 1 0 83.1 £ 7.7 «(100.8 - 85.4
4 -6 33 1 2 0 90.6 + 8.9 (99.6 - 81.7
5 - 36 36

TOTAL 44 4 4 36
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 65 1 2 0 98.1 £ 3.7 (101.8 - 94.5
1 -2 62 2 1 0 94,3 £ 6.4 (100.7 - 88.0
2 -3 49 0 1 0 94.3 £ 6.4 (100.7 - 88.0
3 -4 48 4 0 0 86.56 £+ 9.5 (96.0 - 77.0
4 -6 44 2 3 0 82.4 £ 10.7 (C(83.1 - 1717
5 - 39 39

TOTAL 66 9 7 as

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 67 4 3 0 83.9 + 5.9 (99.8 - 88.0
1 -2 60 2 2 0 90.7 + 7.2 (97.9 - 83.5
2 -3 66 2 0 0 87.6 + 83 (95.8 - 79.2
3 -4 54 0 1 0 87.6 + 8.3 (95.8 - 79.2
4 -6 K] 1 3 0 85.8 + 8.8 (94.6 - 77.0
5 ~ 49 49

TOTAL 67 9 9 49

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 131 2] 3 0 93.1 =+ 4.6 (97.5 - 88.6
1 -2 118 14 4 0 81.9 £+ 6.8 (88.7 - 75,1
2 -3 101 4 6 0 78.6 £+ 7.3 (85.9 - 71.2
3 -4 91 6 3 0 73.3 £+ 8.0 (81.3 - 65,3
4 -6 82 1 4 0 72.4 + 8.1 (80.5 - 64.3
5 - 7 77

TOTAL 131 34 20 77

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0-1 207 8 3 0 96.1 2.7 (98.8 - 93.4
1 -2 196 14 4 0 89.2 + 4.4 (93.5 - 84.8
2-3 178 14 2 0 82.1 + 6.4 (87.5-176.7
3 -4 162 9 3 0 77.6 + 6.9 (83.4 - 171.6
4 -6 1560 6 10 0 74.3 £ 6.2 (80.56 - 68.1
6 - 134 134

TOTAL 207 61 22 134
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 49 7 1 0 86.6 £ 10.1 (96.7 - 75.5
1 -2 41 5 0 0 76.1 £ 12,5 ( 87.6 - 62.7
2-3 36 6 1] 0 62.6 £ 14.0 ( 76.6 - 48.7
3 -4 30 2 0 0 68.4 + 14.2 (72.7 - 44.2
4 -5 28 3 3 0 61.8 £+ 14.5 (66.3 - 37.3
5 - 22 22

TOTAL 49 23 4 22
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26-2. FEBAEFE(H..Po.Mo N, . &EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 00 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0,0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0 00 ¢ 0.0- 0.0
4 - 6 0 0 0 0 0.0 £ 00 ¢ 0.0- 0.0
6 - 0 [}

TOTAL 0 0 0 ]

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 9 1 0 o 88.9 + 21.0 (109.8 - 67.9
1 -2 8 1 1 0 77.0 £ 28.6 (105.6 - 48.6
2 -3 .6 0 0 0 77.0 + 28.6 (106.6 — 48.5
3 -4 6 0 ] 0 77.0 £ 28.6 (105.6 - 48.5
4 -5 6 0 0 0 77.0 £ 28.6 (105.6 ~ 48.56
5 - 6 6

TOTAL 8 2 1 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 23 1 1 0 96.6 £+ 8.7 (104.2 - 86.9
1 -2 21 1 0 0 81.0 £ 12.1 (103.1 - 78.9
2.~-3 20 1 0 0 86.6 £+ 14.5 (101.0 - 71.9
3 -4 19 2 2 0 76.8 =+ 18.2 ( 95.1 - 568.6
4 -6 15 1 0 0 71.7 £ 18.7 (91.4 - 52.1
6 - 14 14

TOTAL 23 6 3 14
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 137 8 5 0 94.1 = 4.1 (98.1 - 90,0
1 -2 124 11 2 o] 86.6 £ 6.1 (91.7 - 179.6
2 -3 111 13 2 0 76.6 + 7.6 (83.1 - 68.0
3 -4 86 S 3 0 7.5 £ 7.9 (79.5 - 63.6
4 -5 88 5 11 0 67.2 + 8.3 (755 - 658.8
6 - 72 72

TOTAL 137 42 23 72
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 365 25 7 0 93.1 + 2.7 (95.8 - 90.4
1 -2 333 29 4 0 84.9 & 3.8 (88.7 - 81.1
2-3 300 23 7 0 78.3 = 4.4 (82.7 - 74.0
3 -4 270 23 6 0 71.6 + 4.8 ( 76.4 - 66.8
4 - 6 241 13 21 0 67.6 + 6.0 ( 72.6 - 62.6
6 - 207 207

TOTAL 366 113 45 207
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 956 13 0 0 86.3 £+ 7.1 (93.4 - 79.3
1 -2 82 14 0 0 71.6 £ 9.3 (80.8-62.3
2 -3 68 7 0 o] 64.2 £ 9.8 ( 74.0 - 54.4
3 -4 61 6 3 0 67.7 £ 10.2 ( 67.9 - 47.6
4 -6 62 2 2 0 66.6 £ 10.3 ( 65.7 - 45.2
5 - 48 48

TOTAL 95 42 5 48
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
4 - 6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 16 2 0 0 87.6 £ 16.5 (104.0 -~ 71.0
1 -2 14 2 0 0 76.0 = 21.7 (¢ 96.7 - 63.3
2 -3 12 1 0 0 68,8 £ 23.2 (91.9 - 45.6
3 -4 11 1 0 0 62.6 £ 24.2 (86.7 - 38.3
4 - 6 10 0 1 0 62,6 + 24.2 (86,7 - 38,3
6 - 9 9

TOTAL 16 6 1 ]

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 56X STD ERROR
0 -1 68 3 2 0 86.5 + 5.1 (100.6 - 90.5
1 -2 63 3 0 0 891.0 £ 7.0 (98.0 - 83.9
2 -3 60 6 0 0 81.9 £+ 9.5 (91.3 - 72.4
3 -4 64 2 2 0 78.8 £ 10.1 ( 88.9 - 68.7
4 -5 50 0 4 0 78.8 = 10.1 ( 88.9 - 68.7
5 - 46 46

TOTAL 68 14 8 46

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 213 16 2 0 92.9 £+ 3.5 (96.4 - 89.4
1 -2 196 14 3 0 86.2 £ 4.7 (91.0 - 81.56
2 -3 179 16 6 0 78.4 £ 6.7 (84.1 - 72.7
3 -4 168 13 3 0 71.9 £+ 6.3 (78.2 - 65.6
4 -5 142 8 11 0 67.7 £ 6.6 (74.3 - 61.1
6 - 123 123

TOTAL 213 66 24 123
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 106 14 1 0 86.7 + 6.6 ( 93.3 - 80.1
1 -2 91 14 1 0 73.3 £ 8.6 (82.0 - 64.7
2 -3 76 7 0 0 66.6 £+ 8.2 ( 75.8 - 67.3
3 -3 69 7 6 "] 69.6 £ 9.7 (69.2 - 49.8
4 -5 56 1 4 0 68.4 £+ 9.7 (68.1 - 48.7
S - 51 51

TOTAL 106 43 12 51
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26-4. REERIEFER(Ho.Po.Mo. N, &85

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 () 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 6.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL o 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 ()} 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0t 0.0 ¢ 0.0~ 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 ] 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL () 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0 -1 1 o ()} 0 100.0 £+ 0.0 (€100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 <(€100.0 -100.0
2-23 1 0 0 0 100.0 £ 0.0 <(€100.0 -100.0
3 -4 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
4-5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 o 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 20 1 0 0 95.0 £ 8.7 <(104.7 - 85.3
1 -2 19 0 0 0 96.0 £ 9.7 (104.7 - 85.3
2-3 19 4 0 0 75.0 + 19,4 ( 94.4 - 55.6
3 -4 16 0 0 0 76.0 + 19.4 ( 94.4 - 55.6
4-5 16 0 2 0 76.0 £+ 19.4 ¢ 94.4 - 55.6
5 - 13 13

TOTAL 20 5 2 13

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 74 11 0 0 86.1 £+ 8.3 (93.4 - 76.9
1 -2 63 9 1 0 72.9 £ 10.4 ( 83.2 - 62.5
2 -3 53 4 1 0 67.3 + 11.0 ( 78.3 - 56.4
3-4 48 8 0 0 56.1 £ 11.7 (€ 67.8 - 44.4
4-5 40 0 2 0 66.1 £ 11.7 ( 67.8 - 44.4
5 38 38

TOTAL 74 32 4 38

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 60 17 ) 0 71.7 % 11.6 ( 83.3 - 60.0
1 -2 43 9 1 0 66.6 + 12.8 ( 69.3 - 43.7
2 -3 33 4 0 0 49.6 £ 13.0 (¢ 62.6 - 36.7
3 -4 29 2 1 0 46.2 * 13.0 ( 69.1 - 33.2
4-5 26 3 1 0 40.7 £ 12,9 ( 563.6 - 27.9
5 - 22 22

TOTAL 60 as 3 22
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26-5. FREEREFE(Ho. P o Mo N, 58

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING® INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 000 0.0 ¢ 0.0- 0.0
6 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 1 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
4 -6 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
-1 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0t 0.0 C 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0,0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 4 1 0 0 75.0 £ 43.3 (118.3 - 31.7
1 -2 3 1 0 0 §0.0 £ 50.0 (100.0 - 0.0
2 -3 2 1 0 0 25.0 + 43.3 (68.3 --18.3
3 -4 1 [o] o] 0 25.0 £+ 43.3 (68.3 --18.3
4 - 5 1 0 0 0 25.0 + 43.3 (68.3 --18.3
5 - 1 1

TOTAL 4 3 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE, 5% STD ERROR
0 -1 22 9 0 0 59,1 £ 21.0 (¢ 80.1 - 38,1
1 -2 13 4 0 0 40.9 + 21.0 (61.8 - 19,9
2-3 9 2 0 0 31.8 £ 18,9 (61.7 - 12.0
3 -4 7 3 0 0 18.2 = 16.4 ( 34.6 - 1.7
4 - 6 4 0 0 0 18.2 + 16.4 (34.6 - 1.7
6 - 4 4

TOTAL 22 18 0 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R*2SE 6% STD ERROR
0 -1 20 6 1 0 69.2 + 20.9 ( 90.1 - 48.3
1 -2 13 2 1 0 68.2 + 22.7 ¢ 80.8 - 36,5
2 -3 10 4 0 0 34.9 £ 22.6 ( 67.5 - 12,3
3-4 6 0 1 0 34.9 £ 22.6 C 67.5 - 12.3
4-5 5 0 0 0 34.9 * 22.6 ¢ 67.5 - 12.3
5 - 5 5

TOTAL 20 12 3 5
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26-6. REERIEFE(H,.Po Mo N, . EH)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE

CUMULATIVE GREENWOOD’ S
SURV. R+ 2SE 6% STD ERROR

SM

PM

A

0-1 69 0 1 0 1000 £ 0.0 (100.0 -100.0
1 -2 68 1 1 0 88.3 =+ 3.4 (101.7 - 94.8
2-3 66 1 1 0 86.6 £+ 4.8 (101.4 - 91.6
3 -4 64 0 1 0 96.6 + 4.9 (101.4 - 91.6
4 -6 63 2 1 0 82.8 £+ 6.8 (98.7 - 85.8
6= 60 50

TOTAL 69 4 6 60

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0-1 88 4 2 0 95.4 + 4.5 (99.8 - 90.9
1 -2 82 4 0 0 80.7 £+ 6.2 (97.0 - 84.56
2 -3 78 2 1 0 88.4 £ 6.9 (95.3 - 81.6
3 -4 756 3 3 0 84.8 £ 7.8 (92.6 - 77.0
4 -5 69 1 8 0 83.6 £+ 8.1 (91.6 - 75.4
§ - 60 60

TOTAL 88 14 14 60

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 223 10 3 0 86.6 £+ 2.8 (98.3 - 92,7
1 -2 210 9 4 0 91.4 * 3.8 (95.1 - 87.6
2 -3 197 10 1 0 86.7 £ 4.6 (91.3 - 82,1
3 -4 186 1 6 0 86.2 £ 4.7 (90.9 - 81.6
4 -6 179 9 16 0 81.7 £ 653 (87.0 - 76.4
5 - 166 156

TOTAL 223 39 23 1656
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 56X STD ERROR
0-1 266 11 8 0 96.6 £+ 2.6 (98.2 - 93.0
1 -2 236 14 3 0 89.9 £+ 3.8 (93.7 - 86.1
2-3 219 10 3 0 86.8 + 4.5 (90.2 - 81.3
3 -4 206 18 6 0 78.2 + 5.3 (83.5 -72.8
4 -6 182 11 9 0 73.3 6.7 (C79.1 - 67.86
6 - 162 162

TOTAL 255 64 29 162

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROR
0 -1 271 20 1 0 92.6 * 3.2 (95,8 - 89.4
1 -2 250 22 4 0 84.4 =+ 4.4 (88.8 - 80.0
2 -3 224 30 5 0 73.0 £ 5.5 (78.4 - 67.5
3 -4 189 21 3 0 64.8 £ 6.9 (70.7 - 68.9
4 - 5 165 10 16 0 60.7 £ 6.1 (66.7 - 64.6
5 - 139 139

TOTAL 27 103 29 139
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 56X STD ERROR
0 -1 63 9 1 0 85.6 =+ 8,9 (94.5 - 76.7
1 -2 63 9 0 0 71.1 £ 11.5 ( 82.6 - 59.6
2 -3 44 9 1 0 66.4 t 12.6 ( 69.0 - 43.7
3 -4 34 6 1 0 46.3 £ 12.8 ( 59.0 - 33.56
4 -6 27 5 4 0 37.0 = 12.6 ( 49.6 - 24.4
5 - 18 18

TOTAL 63 38 7 18
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26-7. REERNEFR(H..P..Mo.N,.EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1 0 0 0 100.0 = 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 = 0.0 <(100.0 -100.0
4 -6 1 0 0 4] 100.0 =+ 0.0 (100.0 -100.0
65 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 6 0 0 0 100.0 =+ 0.0 (100.0 -100.0
1 -2 6 1 0 0 80.0 = 35.8 (115.8 - 44.2
2-3 4 0 0 0 80.0 + 35.8 (115.8 - 44.2
3 -4 4 0 1 0 80.0 £ 35.8 (115.8 -~ 44.2
4 -6 3 0 0 0 80.0 + 35.8 (115.8 - 44.2
5 - 3 3

TOTAL 6 1 1 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 73 3 1 0 95.9 £+ 4.7 (100.56 - 91.2
1 -2 69 1 0 0 86.1 =+ 8.1 (94.3 - 78.0
2 -3 62 3 1 0 81,9 £ 9.1 (91.0 - 72.9
I -4 68 4 0 0 76.3 £ 10.1 (86.3 - 66.2
4 -6 54 5 2 0 69,1 £ 11.0 (80.1 - 58.1
5 - 47 47

TOTAL 73 22 4 47

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 183 16 9 0 82.0 £ 3.9 (96.0 - 88.1
1 -2 169 11 0 0 86,1 £ 6.1 (91.1 - 81.0
2 -3 168 16 3 0 77.3 £ 6.2 (83.4 - 71.1
3 -4 138 16 8 0 68.7 £+ 6.9 ( 76.6 - 61.8
4 -6 116 7 7 0 64.4 =+ 7.2 (71.6 - 567.2
5 - 102 102

TOTAL 193 64 27 102

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 300 23 7 0 92.2 £+ 3.1 (953 - 89.1
1 -2 270 45 1 0 76.8 * 4.9 (81.8 - 71.9
2 -3 224 31 4 0 66.1 £ 6.6 (71.7 - 60.6
3 -4 189 19 2 0 569.4 + 5.8 (65.2 - 53.7
4 - 6 168 16 11 0 63.9 £ 6.9 (59.8 - 48.1
5 - 142 142

TOTAL 300 133 25 142

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s

‘'OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 76 14 1 0 81.2 £+ 8.1 (90.3 - 72.2
1 -2 60 14 1 0 62.1 + 11.3 ( 73.4 - 50.8
2-3 45 7 0 0 62.4 + 11.7 ( 64.1 - 40.8
3 -4 as 4 0 0 46.9 +* 11.7 ( 568.6 - 35.2
4 -6 34 1 5 0 45.4 = 11.7 < 57.1 - 33.8
6 - 28 28 '

TOTAL 15 40 7 28
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 1 0 0 60.0 £ 70.7 (120.7 --20.7
2-3 1 0 0 0 §0.0 + 70.7 (120.7 --20.7
3 -4 1 0 0 0 60.0 + 70.7 (120.7 --20.7
4 -5 1 0 0 0 §0.0 + 70.7 (120.7 --20.7
6 - 1 1

TOTAL 2 1 ()} 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 5 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 5 0 0 o 100.0 £+ 0.0 (100.0 -100.0
3 -4 5 0 0 0 100.0 £ 0.0 <100.0 -100.0
4 -5 5 0 0 0 100.0 £ 0.0 <100.0 -100.0
6 - 6 5

TOTAL 5 0 0 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® §
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 6% STD ERROR
0-1 23 0 1 0 100.0 £ 0.0 (100.0 —-100.0
1 -2 22 2 0 0 80.9 t+ 12,3 (<103.2 - 78.7
2-3 20 3 0 0 77.3 + 17.9 ( 95.1 - 59,4
3 -4 17 0 0 0 77.3 £ 17.9 (¢ 95.1 - 69.4
4 -5 17 0 2 0 77.3 £ 17.9 ( 96.1 - 69.4
5 - 16 16

TOTAL 23 5 3 15
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 92 8 1 ()} 91.3 + 6.9 (97.2 - B5.4
1 -2 83 6 1 0 84.6 £ 7.6 (92.2 - 71.1
2-3 76 11 0 0 72.4 £ 9.4 (B81.8 - 63.0
3 -4 66 6 a 0 65.5 £ 10.0 ¢ 75.6 - 55.5
4-5 56 3 1 0 62.0 £ 10.3 (¢ 72.3 - 51.7
5 - 52 52

TOTAL 82 34 6 62

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 221 18 1 0 81.8 + 3.7 (95.5 - 88.1
1 -2 202 48 0 0 70.0 + 6.2 (¢ 76.2 - 63.8
2 -3 164 28 2 0 57.2 + 6.7 (63.9 - 50.5
3 -4 124 17 6 0 49.2 £ 6.8 ( 56.0 - 42.4
4-5 102 13 6 0 42.8 £+ 6.8 (¢ 49.5 - 36.0
5 - 84 84

TOTAL 221 124 13 84

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 106 21 1 0 80.1 + 7.8 (¢ 87.9 - 72.3
1 -2 84 19 1 0 61.9 £ 9.5 C T1.4 - 52.4
2 -3 64 14 0 0 48.3 + 9.8 ( 58.1 - 38.5
3 -4 50 9 2 0 39.5 + 9.6 (49.1 - 29.8
4-5 39 4 1 0 36.4 + 9.6 ( 44.8 - 25.9
5 - 34 34

TOTAL 106 67 5 a4
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR

0 -1 0 0 0 0 0,0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4a 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
4 -5 0 0 0 0 0.0£ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR

0-1 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 C 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - o 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 4 2 0 0 50.0 + 50.0 (100.0 - 0.0
1 -2 2 0 0 0 60.0 + 50.0 (100.0 - 0.0
2-3 2 0 0 0 §0.0 + 50.0 (100.0 - 0.0
3-4 2 0 0 0 50.0 + 50.0 (€100.0 - 0.0
4-5 2 1 0 0 25.0 + 43.3 ( 68.3 --18,3
5 - 1 1

TOTAL 4 3 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 16 2 0 0 87.5 + 16.5 (104.0 - 71.0
1 -2 14 4 0 0 62.5 + 24.2 ( 86,7 - 38.3
2-3 10 0 0 0 62.56 + 24.2 ( 86.7 - 38.3
3 -4 10 0 1 0 62.5 + 24.2 ( 86.7 - 38,3
4-5 9 2 0 0 48.6 + 25.6 ( 74.2 - 23.0
5 - 7 7

TOTAL 16 8 1 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

0-1 41 6 0 0 85.4 + 11.0 ¢ 96.4 - 74.3
1 -2 35 7 0 0 66.3 * 14.5 (¢ 82.8 - 53.8
2-3 28 4 0 0 58.6 * 15.4 ( 73.9 - 43.1
3-4 24 5 0 0 46.3 + 15.6 ¢ 61.9 - 30.8
4 -6 19 2 2 0 41.2 + 15,5 ( 56.6 - 26.7
5 - 15 15

TOTAL 41 24 2 15

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR

0-1 33 7 1 0 78.5 + 14.4 (€ 92.9 - 64.0
1 -2 25 9 0 0 60.2 + 17.7 ( 67.9 - 32.5
2-3 16 4 0 0 37.7 £ 17.1 ( B4.8B - 20.6
3 -4 12 1 0 0 34.5 + 16.8 (51.3 - 17.7
4-5 11 1 1 0 31.2 + 16.6 (47.7 - 14.8
5 - ] 9

TOTAL 33 22 2 9
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0t 0,0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.o+ 00 ¢ 0.0- 0.0
3 -4 ] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 3 3 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 000+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 3 3 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 19 11 0 0 42.1 + 22.7 (64.8 - 19.5
1 -2 8 6 0 0 10.6 £ 14.1 ( 24.6 - -3.6
2 -3 2 1 0 0 5.3 £ 10.2 (156.5 - -5.0
3 -4 1 0 0 0 6.3 £ 10.2 ( 16.56 - -6.0
4 -5 1 0 0 0 6.3 £ 10,2 (16,6 - -5.0
6 - 1 1

TOTAL 18 18 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 6X STD ERROR
0 -1 13 7 0 0 46.2 + 27.7 ( 73.8 - 18.5
1 -2 6 3 0 0 23.1 £ 23.4 ( 46.4 - -0.3
2-3 3 0 0 0 23.1 + 23.4 ( 46.4 - -0.3
3 -4 3 0 0 0 23.1 + 23.4 (46.4 - -0.3
4 -5 3 0 0 0 23.1 + 23.4 ( 46.4 - -0.3
5 - 3 3

TOTAL 13 10 0 3
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26-11. FEERNEFE(H . PocMo. no M)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 36 1 1 0 97.2 + 5.6 (102.7 - 81.6
1 -2 34 0 0 0 97.2 £+ 5.6 (102.7 - 91.6
2 -3 34 0 0 0 97.2 £+ 6.6 (102.7 - 91.6
3 -4 34 0 1 0 97.2 + 5.6 (102.7 - 91.6
4 -6 33 1 2 0 84.1 + 8.0 (102,2 - 86.1
65 - 30 30
TOTAL 36 2 4 30
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 53 1 2 0 98.1 + 3.8 (101.9 - 94.3
1 -2 50 2 1 0 94.1 £ 6.6 (100.7 - B7.5
2-3 47 0 1 0 94.1 + 6.6 (100.7 - 87.5
3 -4 46 4 0 0 85,9 £+ 9.9 (9858 - 76.1
4 -5 42 2 2 0 81.7 £ 11.0 (92,8 - 70.7
5 - 38 38
TOTAL 63 9 6 38
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 84 6 4 0 92.7 £+ 5.8 (98,4 - 86.9
1 -2 74 4 2 0 87.6 £+ 7.3 (94.9 - 80.3
2 -3 68 3 0 0 83.7 £+ 83 (92,0 - 75.6
3 -4 656 2 3 0 81.1 + 8.8 (89.9 - 72,3
4 -5 60 0 3 0 81.1 + 8.8 (89.9 - 1723
5 - 67 57
TOTAL 84 16 12 67
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 218 16 6 0 92,6 * 3.6 (96.1 - 8S.0
1 -2 197 18 5 0 84.0 =+ 6,0 (89.0 - 79.0
2-3 174 9 5 0 79.6 £ 5.6 ( 85.2 - 74.0
3 -4 160 6 4 0 76.6 £ 5.9 (82,4 - 70.7
4 -5 150 0 13 0 76.6 * 5.9 (82.4 -70.7
6 - 137 137
TOTAL 218 48 32 137
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 473 18 10 0 96.2 £ 1.8 (97.9 - 94.4
1 -2 445 24 6 0 90.9 £+ 2.7 (93.6 - 88.3
2 -3 416 24 7 0 85.6 *° 3.3 (88.9 - 82.4
3 -4 384 21 9 0 80,9 £ 3.7 ((84.6 - 77.2
4 -5 354 17 25 0 76.9 £ 4.0 (80.9 - 72.9
5 - 312 312
TOTAL 473 104 67 312
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 170 19 2 0 88.8 =+ 4.9 (93.6 - 83.9
i-2 149 14 0 0 80.4 £+ 6.1 (86.5 - 74.3
2-3 136 13 i ] 72.6 £ 6.9 (79.5 - 66.8
3 -4 121 12 8 0 66,2 £ 7.4 (72,6 - b7.8
4 -6 101 6 8 0 61.8 £ 7.6 (69.4 - b4.2
6 - 88 88
TOTAL 170 63 19 88

(O RVREVEVREV] [ RVEVEVRV (SRR R V] [PRVRVEV V] (VR EV VRV

(R RV RV



sm

pm

S8

si

26-12. &’EEEU&‘E?*(H os PoMo. n B

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1L-2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 o] 0 0 0 0.0+ 00 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 3 1 0 0 66.7 £ 54.4 (121.1 - 12.2
1 -2 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
2 -3 2 0 0 0 66.7 = 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
4 -5 2 0 0 0 66.7 = 54.4 (121.1 - 12.2
S 2 2

TOTAL 3 1 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 16 1 0 0 93.8 £ 12.1 (105.9 - 81.6
1 -2 16 0 0 0 93.8 £ 12.1 (106.9 - 81.6
2 -3 15 0 0 0 83.8 £ 12.1 (105.9 - 81.6
3 -4 15 1 0 0 87.5 £ 16.5 (104.0 - 71.0
4 -6 14 2 0 0 76.0 £ 21.7 (96,7 - 63.3
6 - 12 12

TOTAL 16 4 0 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 86 6 4 0 94.0 + 5,2 (99.2 - 88.89
1 -2 17 7 1 0 85.4 £ 7.8 (93.2 - 777
2 -3 69 10 2 0 72.9 + 9.9 (82.8 - 63.0
3 -4 57 2 3 0 70.3 £ 10.2 (80.5 - 60.0
4 -5 52 4 7 0 64.6 = 10.9 ( 75.3 - b3.6
6 - 41 41

TOTAL 86 28 17 41
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 206 13 1 0 83.7 £ 3.4 (87.1 - 90.3
1 -2 192 20 3 0 83.8 £ 6.2 (89.0 - 78.7
2 -3 169 18 4 0 74.8 £+ 6.1 (80.9 - 68.7
3 -4 147 11 1 0 69.2 £+ 6.5 (75.7 - 62.7
4 -5 136 4 15 0 67.0 £ 6.7 (C73.7 - 60.3
§ - 116 116

TOTAL 206 66 24 116

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP [N ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 82 11 0 0 86.6 + 7.6 (94.1 - 79.1
1 -2 n 12 1 0 71.8 £ 10,0 (81.8 - 61.8
2-3 58 9 0 0 60.7 £ 10.8 (C 71.5 - 49.9
3 -4 49 4 2 o 566.6 + 11.0 ( 66.7 - 44.6
4 -5 43 2 2 0 53.0 £ 11.1 < 64.1 - 41.9
5 - 39 39

TOTAL 82 38 5 39
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0.0 00 ¢ 0.0- 0.0
1 -2 0 0 o 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 00 ¢ 0,0~ 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ .0 - 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
1 -2 2 0 1 0 100.0 + 0.0 <100.0 =-100.0
2-3 1 0 0 0 100.0 £ 0.0 (100.0 -100. 0
3-4 1 0 0 0 100.0 £+ 0.0 (¢100.0 -100.0
4-5 1 0 1 0 100.0 £ 0.0 (100.0 -100.0
5 - 0 0

TOTAL 2 0 2 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:+2SE 5% STD ERROR
0-1 7 1 0 0 85.7 + 26.5 (112.2 - 59.3
1 -2 6 1 0 0 71.4 + 34.1 (105.6 - 37.3
2-3 5 0 0 0 71.4 + 34.1 (105.6 - 37.3
3-4 5 0 0 0 71.4 £ 34.1 (105.6 - 37.3
4-5 5 0 1 0 71.4 £ 34.1 (105.6 - 37.3
5 - 4 4

TOTAL 7 2 1 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rf2SE 5% STD ERROR
0 -1 40 2 1 0 94.9 + 7.0 (101.9 - 88.0
1 -2 37 4 0 0 84.7 + 11.5 ¢ 96.2 - 73. 2
2 -3 33 2 1 0 79.5 £ 13.0 ¢ 92.4 - 66.5
3-4 30 1 1 0 76.8 £ 13.6 ¢ 90.4 - 63.2
4-5 28 2 1 0 71.2 * 14.7 ( 85.9 - 66.5
5 - 25 25

TOTAL 40 11 4 25

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV. Rt2SE  5X STD ERROR
0-1 127 19 0 0 85.0 £ 6.3 ¢ 91.4 - 78.7
1 -2 108 13 2 0 74.7 £ 1.7 (82.4 - 67.0
2 -3 93 12 2 0 65.0 + 8.5 ( 73.5 - 56.4
3 -4 79 13 2 0 54.1 £ 9.0 ¢ 63.1 - 46. 2
4-5 64 4 3 0 50.7 + 9.0 ¢ 59.7 - 41.6
5 - 57 57

TOTAL 127 ° 61 9 57
YEAR OF ALIVE AT DIED 1IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 27 6 0 0 77.8 + 16.0 ( 93.8 - 61.8
1 -2 21 7 1 0 51.2 + 19.4 ¢ 70.6 - 31.8
2 -3 13 1 0 0 47.3 + 19.4 € 66.7 - 27.8
3 -4 12 1 0 0 43.3 £ 18.4 ( 62.7 - 24.0
4-5 11 1 0 0 3.4 £ 19.1 ¢ 58.6 - 20.3
5 - 10 10

TOTAL 27 16 1 10
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 0 o 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0,0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 o 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE §X STD ERROR
0 -1 1 0 0 0 1000 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 = 0.0 <(100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 <100.0 -100.0
3 -4 1 0 (] 0 100.0 £ 0.0 (100.0 -100.0
4 - 5 1 0 0 o] 100.0 £ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 12 1 0 0 91.7 £ 16.0 (107.6 - 75,7
1 -2 11 0 0 0 81,7 £ 16.0 (107.6 - 76.7
2-3 11 5 0 0 650.0 = 28.9 ( 78.9 - 21.1
3 -4 6 2 0 [ 33.3 £ 27.2 (60.5 - 6.1
4 -6 4 0 0 0 33.3 + 27.2 (60.56 - 6.1
6 - 4 4

TOTAL 12 8 0 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 656X STD ERROR
0 -1 42 8 1 0 80.7 + 12,2 (83.0 - 68.5
1 -2 33 7 1 0 63.3 = 15.1 ( 78.4 - 48.2
2-3 25 3 2 0 66.4 £ 165.7 ( 71.2 - 39.7
3 -4 20 4 0 0 44.3 * 16.0 ( 60.4 - 28.3
4 -5 16 1 1 0 41.5 = 16.0 ( 57.5 - 25.5
6 - 14 14

TOTAL 42 23 6 14

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 656X STD ERROR
0 -1 26 11 0 0 67.7 £ 19.4 (77.1 - 38.3
1 -2 16 6 0 0 34.6 £ 18,7 (53.3 - 16.0
2-3 9 2 0 0 26.9 = 17.4 (44.3 - 9.5
3 -4 7 0 0 0 26.9 = 17.4 (44.3 - 9.6
4 -6 7 0 0 0 26.9 £ 17.4 ( 44.3 - 9.5
5 - 7 7

TOTAL 26 18 0 7

(VR VRVEVEY) [V RVEVEVEY) SRV VEVEY) (SR RV VY] LRV R

LAY EVEVE VS



sm

pm

SS

si

26-15. géﬁﬂ'ﬁt#$("| ov PosMoun 4sﬁﬂ§)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 0 0 0 0 0,o £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 o 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0,0
4 -6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 1 0 0 0.0 x 0.0 ¢ 0.0 - .0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0x 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 00 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 3 0 0 0 100,.0 £ 0.0 <100.0 -100.0
1 -2 3 i 0 0 66.7 + 64.4 (121.1 - 12,2
2-3 2 1 0 0 33.3 + 64.4 ( 87.8 --21.1
3 -4 1 0 0 0 33.3 + 6564.4 (87.8 --21.1
4 -5 1 0 0 0 33.3 + 54.4 ( 87.8 --21.1
5 - 1 1

TOTAL 3 2 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 16 7 0 1] 66.3 £ 24.8 (81.1 - 31.4
1 -2 9 3 0 0 37.6 £ 24.2 (61.7 - 13.3
2-3 6 0 0 0 37.6 £ 24.2 (61.7 - 13.3
3 -4 6 4 0 0 12,6 £ 16.6 (29.0 - -4.0
4 -6 2 0 0 0 12.6 £ 16.5 (29.0 - -4.0
5 - 2 2

TOTAL 16 14 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 10 3 1 0 68.4 £ 30.2 (98,6 - 38.3
1 -2 6 1 1 0 66.0 £ 33.4 (89.4 - 22.6
2 -3 4 1 0 0 42.0 £ 34.9 (76.8 - 7.1
3 -4 3 0 1 0 42,0 + 34.9 (76.8 - 7.1
4 - b 2 0 0 0 42.0 + 34.9 (76.8 - 7.1
5 - 2 2

TOTAL 10 5 3 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 49 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 48 1 1 0 87.9 £+ 4.2 (102.1 - 93.7
2-3 46 1 1 0 95,7 £ 5.9 (101.6 - B9.9
3 -4 44 0 1 0 95.7 £ 5.9 (101.6 - 89.9
4 -6 43 1 0 0 93,6 £ 7.2 (100.8 - 86.3
6 - 42 42

TOTAL 49 3 4 42

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 76 3 2 0 95.9 + 4.6 (100.5 - 91.4
1 -2 70 3 0 0 91.8 £+ 6.4 (98.2 - 85.4
2 -3 67 0 1 0 91.8 £+ 6.4 (98.2 - 85.4
3 -4 66 2 3 0 89.0 £ 7.4 (96.3 - 81.6
4 -6 61 1 7 0 87.4 + 7.8 (95.3 - 79.6
6 - 63 53

TOTAL 75 S 13 53
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 236 9 3 0 86.2 £ 2.5 (98,7 - 93.7
1 -2 224 9 3 0 92.3 £ 3.5 (95.8 - 88.8
2 -3 212 7 2 0 89.2 £ 4.1 (93.3 - 856.1
3 -4 203 3 6 0 87.9 £+ 4.3 (92,2 - 83.6
4 - b6 184 7 14 0 84.6 £+ 4.8 (89,4 - 79.8
5 - 173 173

TOTAL 236 35 28 173
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0-1 354 16 13 0 95.4 + 2.2 (97.6 - 93.1
1 -2 325 13 3 0 81.6 £+ 3.0 (94.6 - 88.6
2 -3 308 17 6 0 86.6 + 3.7 (90.2 - B2.8
3 -4 287 17 14 0 8l1.2 £+ 4.3 (855 -77.0
4 -5 256 9 10 0 78.3 £+ 4.5 (82,8 - 73.8
5 - 237 237

TOTAL 354 72 45 237

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 393 23 4 0 84.1 + 2.4 (96.5 - 91.7
1 -2 366 36 3 0 84.8 + 3.6 (88.5 - 81.2
2 -3 327 32 5 0 76.6 £ 4.3 (80.8 - 72,1
3 -4 230 27 6 0 69.3 £ 4.7 ( 74.0 - 64.5
4 - b 267 14 21 0 66.3 £ 4.9 (70.2 - 60.4
6 - 222 222

TOTAL 393 132 39 222
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 132 14 3 0 89.3 £ 5.4 (94.7 - 83.9
1 -2 115 15 1 0 77.6 £ 7.3 (84.9 - 70.2
2-3 99 13 1 0 67.3 £ 8.3 (75.6 - 69.1
3 -4 856 9 1 0 60.2 £+ 8.7 (68.8 - 651.5
4 - 6 15 7 7 0 564.3 £ 8.9 (63.2 - 45.4
65 - 61 61

TOTAL 132 58 13 61
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26-17. REEREFE(H..Po Moo EH)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 2 1 0 0 60.0 £ 70.7 (120.7 --20.7
2-3 1 0 0 0 §0.0 £ 70.7 (€120.7 --20.7
3 -4 1 0 0 0 50.0 £ 70.7 (€120.7 --20.7
4 -5 1 0 0 0 50.0 £ 70.7 <(120.7 --20.7
5 - 1 1

TOTAL 2 1 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 11 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 11 2 0 0 81.8 + 23.3 (105..1 - 58.6
2-3 9 1 0 0 72.7 £ 26.9 ( 99.6 - 45.9
3 -4 8 1 1 0 63.0 £ 29.6 (¢ 92.5 - 33.6
4 -5 6 0 1 0 63.0 £+ 29.5 (¢ 92.5 - 33.6
6 5 6

e e e - _— -

TOTAL 11 4 2 5

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 55 4 2 0 92.6 £+ 7.1 (¢ 99.7 - 85.5
1 -2 49 5 1 0 83.0 £ 10.3 ( 93.4 ~ 72.7
2 -3 43 2 0 (] 79.2 £ 11.2 (¢ 80.4 - 68.0
3 -4 41 3 0 0 73.4 £ 12.2 (¢ 85.6 - 61.2
4 -5 3s ] 3 0 67.4 £ 13.0 (¢ 80.4 - 54.3
6 - 32 32

TOTAL 66 17 6 32

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 6% STD ERROR
0-1 117 8 5 0 93.0 + 4.8 (¢ 97.8 - 88.2
1 -2 104 12 1 0 82.2 £+ 7.2 (89.4 - 75.0
2 -3 91 ] 1 0 74.1 £ 8.3 (82.4 - 65.7
3 -4 81 11 2 0 63.9 £+ 9.2 (¢ 73.0 - 54.7
4 -5 68 6 5 (] 68.0 £+ 9.5 ( 67.5 - 48.5
5 - 57 57

TOTAL 117 46 14 57

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt2SE 5% STD ERROR
0 -1 233 20 3 0 91.4 £ 3.7 (951 - 87.7
1 -2 210 32 2 0 77.4 £ 6.5 ¢ 82.9 - 71.9
2 -3 176 34 3 0 62.3 + 6.4 (68,7 - 55.89
3 -4 139 13 3 0 66.4 =+ 6.6 ( 63.0 - 49.8
4 -6 123 13 9 0 60.2 £+ 6.7 (€ 66.9 - 43.5
6 - 101 101

TOTAL 233 112 20 101
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 63 12 1 0 80.8 + 10.0 ¢ 90.8 - 70.8
1 -2 60 15 0 0 6.6 + 12,6 (¢ 69.1 - 44.0
2 -3 36 9 0 0 42,0 + 12.6 ( 64.6 - 29.5
3 -4 26 4 1 0 36.4 £ 12.2 ( 47.6 - 23.2
4 -5 21 2 2 0 31.9 £ 11,9 ( 43.8 - 19.9
5 - 17 17

TOTAL 63 42 4 17
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26-18. REEAEFER(H,.Po. Mo n. EHIH)

YEAR OF ALIVE AT DIED IN LOST, TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 0 0 ) 0.0+ 0.0 ¢ 0,0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
3-4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 000+ 0.0 ¢ 0.0~ 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 6 0 0 o 100.0 £ 0.0 (100.0 -100.0
1 -2 6 0 o 0 100.0 £ 0.0 (100.0 -100.0
2-3 6 1 0 0 83.3 + 30.4 (113.8 - 52.9
3 -4 6 0 0 0 83.3 + 30.4 (113.8 - 652.9
4 -6 6 0 0 0 83.3 + 30.4 (113.8 - 52.9
6 - 5 5

TOTAL 6 1 0 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 26 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
1 -2 26 3 0 0 88.5 * 12,5 (101.0 - 75.9
2-3 23 6 0 0 65.4 + 18.7 ( 84.0 - 46.7
3 -4 17 0 0 0 65.4 + 18.7 ( 84.0 - 46.7
4 -6 17 3 2 0 63.1 £ 19.8 (¢ 72.9 - 33.3
5 - 12 12

TOTAL 26 12 2 12

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 69 9 0 0 87.0 £+ 8.1 (€951 - 78.8
1 -2 60 9 o 0 73.9 + 10.6 ( 84.5 - 63.3
2 -3 3 10 0 0 69.4 £ 11.8 C 71.2 - 47.6
3-4 41 11 0 0 43.5 + 11.8 ( 65.4 - 31.5
4 -5 30 7 1 0 33.2 £ 11.4 ¢ 44.56 - 21.8
5 - 22 22

TOTAL 69 46 1 22

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 153 14 2 0 90.8 + 4.7 (€ 95.5 - 86.1
1 -2 137 36 [+] 0 66.9 * 7.7 ( 74.6 - 59.3
2-3 104 20 3 0 3.6+ 8.1 (61.6 - 45.3
3 -4 78 13 1 0 44.5 £+ 8.2 ( 52.7 - 36.4
4-5 64 9 4 0 38.0 + 8.0 ( 46.1 - 30.0
5 - 61 51

TOTAL 153 92 10 51

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:2SE 5% STD ERROR
0-1 53 13 0 0 76.5 + 11.8 ¢ 87.3 - 63.7
1 -2 40 13 1 0 0.6 + 13.8 ( 64.4 - 36.8
2-3 26 7 0 0 37.0 + 13.4 ¢ 50.4 - 23.6
3-4 19 5 1 0 27.0 £ 12.4 ( 39.4 - 14.6
4-5 13 1 3 0 24.7 £ 12.2 (€ 36.8 - 12. 6
5 - 9 9

TOTAL 53 3as 5 9

VRV RV RVRY [VRVEVEVES) [VRVEVEVEYY [CRVEVEVEV) v

Ve



sm

pm

a;

a;
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0,0
2 -3 0 o 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0,0+ 0.0 ¢ 0.0- 0.0
4 -6 0 ] 0 0 0.0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 00 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0 0.0
S - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 4 2 ] 0 60.0 £ 60.0 (100.0 - 0.0
1 -2 2 0 0 0 60.0 £ 650.0 (100.0 - 0.0
2 -3 2 1 0 0 26.0 + 43.3 ( 68.3 --18.3
I -4 1 0 0 0 26.0 £ 43.3 ( 68,3 --18.3
4 -5 1 1 0 0 0,0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 4 4 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 8 3 0 0 62.5 £ 34.2 (96.7 - 28.3
1 -2 5 1 0 0 60.0 £ 35.4 (85.4 - 14.6
2 -3 4 1 0 0 37.6 £ 34.2 (71.7 - 3.3
3 -4 3 0 0 0 37.6 £ 34.2 (C71.7 - 3.3
4 -5 3 1 0 0 26.0 £ 30.6 ( 66.6 - -6.6
6 - 2 2

TOTAL 8 6 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 45 8 0 0 82.2 + 11.4 (983.6 - 70.8
1 -2 37 17 0 0 44.4 + 14,8 (59.3 - 29.6
2 -3 20 5 0 0 33.3 £ 14.1 (47.4 - 19.3
3 -4 15 7 0 0 17.8 £ 11.4 (28.2 - 6.4
4 -5 8 3 0 0 11.1 + 9.4 (205 - 1.7
5 - 5 6

TOTAL 45 40 0 5

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 21 9 0 0 67.1 £ 21.6 (78.7 - 35.6
1 -2 12 6 0 0 28.6 £ 18.7 (48.3 - 8.9
2 -3 6 4 0 0 9.5 + 12.8 (22.3 - -3.3
3 -4 2 0 0 0 9.5 £ 12.8 (22.3 - -3.3
4 - 5 2 0 0 0 9.5 + 12.8 (22,3 - -3.3
5 - 2 2

TOTAL 21 19 0 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 ] 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
s - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 ] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 [ 0 0 0 0.0+ 00 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 000+ 0.0 ¢ 0.0- 0.0
4 - b 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6X STD ERROR
0 1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ C.O- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0 0.0
4 -6 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROK
0 -1 4 3 0 0 25.0 + 43.3 ( 68.3 --18.3
1 -2 1 0 0 0 26,0 + 43.3 (68.3 --18.3
2-3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 £ 0.0 C 0.0- 0.0
5 - 0 0

TOTAL 4 4 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITIDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 16 9 ] 1] 43.8 + 24.8 ( 68.6 - 18.9
1 -2 7 4 0 0 18.8 £ 19.6 (38,3 - -0.8
2-3 3 1 0 0 12.6 £ 16.6 ( 29.0 - -4.0
3 -4 2 1 0 0 6.3 £ 12.1 (18.4 - -5.9
4 -5 1 0 0 0 6.3 £ 12.1 (18.4 - -5.9
6 - 1 1

TOTAL 16 15 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 6 3 0 0 50.0 £ 40.8 (80.8 - 9.2
1 -2 3 2 0 0 16,7 + 30.4 ( 47.1 --13.8
2-3 1 0 0 0 16.7 £ 30.4 (¢ 47.1 --13.8
3 -4 1 1 0 0 000 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 6 6 0 0
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27-1. KIBBEHRTLDBASEIC & 2R (AIRM) BB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 150 5 6 0 96.6 £ 3.0 (99.6 - 93.6
1 -2 139 6 2 0 93.1 + 4.2 (97.3 - 88.8
2 -3 132 1 1 0 92.4 £ 4.4 (96.8 - 88.0
3 -4 130 3 2 ] 90.2 + 5.0 (95.2 - 85.3
4 - 65 125 4 7 0 87.3 + 5.6 (92,9 - 81.7
5 - 114 114

TOTAL 150 18 18 114

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 361 18 6 0 94.5 + 2.4 (97.0 - 92,1
1 -2 326 29 9 0 86.0 £ 3.7 (¢ 89.8 - 82,3
2 -3 288 18 8 0 80.6 * 4.3 (84.9 - 76.3
3 -4 262 16 6 0 76.6 + 4.7 (80.3 - 70,9
4 - 6 240 7 14 0 73.3 + 4.9 (78,2 - 68.5
5 - 219 218

TOTAL 351 89 43 219

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 688 66 14 0 91.8 + 2.1 (93.9 - 89.7
1 -2 618 62 8 0 82,6 + 2.9 (86,4 - 79.6
2 -3 548 61 10 0 74.8 =+ 3.4 (781 - 71.4
3 -4 487 38 14 0 68.8 + 3.6 ( 72.4 - 65.2
4 - 5 435 24 38 0 64.9 =+ 3.7 (68.6 - 61,1
5 - 373 373

TOTAL 688 231 84 373

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD' 8
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 557 63 6 0 88.6 =+ 2.7 (91.3 - 85.9
1 -2 488 51 6 0 79.3 + 3.4 (82,8 -75.9
2 -3 432 42 6 0 71.6 £+ 3.9 ( 76.4 - 67.7
3 -4 384 33 12 0 65.3 + 4.1 (69.4 - 61.2
4 -5 339 12 24 0 62.9 + 4.2 (67.1 - 68.8
5 - 303 303

TOTAL 557 201 53 303

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 489 246 4 0 48.6 + 4.5 (54,0 - 45.0
1 -2 239 108 3 0 27.0 £+ 4.0 (31.0 - 22.9
2 -3 128 46 1 0 17.6 £ 3.6 (20.8 - 14.0
3 -4 82 22 3 0 12,7 £ 3.1 (16.7 - 9.6
4 -5 57 6 0 o] 11.4 £+ 2,9 (14.3 - 8.4
5 - 51 51

TOTAL 489 427 11 51

[CRVEV IRV [ R (VR R VRV (R RVEVE

(SRR VRV V]



21-2. KIBERRSOHFBHEIC & 2EFE(BRY) (EBE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 347 13 6 0 96.2 £ 2,1 (98.3 - 94.2
1 -2 328 13 3 0 92.4 £ 2.9 (95.3 - 89.5
2 -3 312 12 3 0 88.8 * 3.4 (92,2 - 85.4
3 -4 297 4 8 o 87.6 *+ 3.6 (91.2 - 84.0
4 -5 285 11 19 0 84.1 £+ 4.0 (88.1 - 80.1
5 - 256 256

TOTAL 347 63 33 255

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0 -1 529 30 9 0 84.3 £ 2.0 ( 96.3 - 92.3
1 -2 490 36 9 0 87.3 £ 2.9 (90.2 - 84,4
2-3 445 39 8 0 79.6 £+ 3.6 (83.1 - 176.0
3 -4 398 39 10 0 71.7 £ 4.0 (¢ 75.7 - 67.7
4 -6 349 22 28 0 67.0 =+ 4.2 (71.2 - 62.8
6 299 298

TOTAL 529 166 64 298

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S,
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 703 64 19 0 90.8 £+ 2,2 (93.0 - 88.6
1 -2 620 86 2 0 78.2 £ 3.2 (81.3 - 75.0
2 -3 632 66 9 o] 68.4 £ 3.6 ( 71.9 - 64.8
3 -4 457 47 12 0 61.3 =+ 3.7 (65.0 - 57.5
4 -5 398 33 28 0 66.0 £+ 3.8 ( 59.8 - 52.1
5 - 337 337

TOTAL 703 296 70 337
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 530 64 3 0 87.9 + 2.8 (80.7 - 85.0
1 -2 461 92 2 0 70,3 £ 4.0 (74.3 - 66.3
2 -3 367 63 2 0 58.2 £+ 4.3 (62.56 - B53.9
3 -4 302 38 11 0 60.7 £+ 4.4 (651 - 46.3
4 -6 263 26 11 0 465.4 = 4.4 (49.8 - 41.0
6 - 216 216

TOTAL 530 283 31 216

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 362 181 0 0 48.6 £+ 5.3 (53.8 - 43.3
1 -2 171 87 o 0 23.9 + 4.6 (28.4 - 18.3
2-3 84 31 2 0 16,0 £ 3.8 (18.8 - 11.1
3 -4 51 19 2 0 9.3 £ 3.1 (12.4 - 6.1
4 -5 30 4 3 o] 8.0 £ 2.9 (10.9 - 5.0
5 - 23 23

TOTAL 362 322 7 23
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21-3. KBEHESOB/MSEIC & 3 E7FR(HRRZRY) (B

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 160 5 9 0 96.8 + 2.8 ( 99.6 - 94.0
1 -2 146 7 2 0 92.1 + 4.4 (€ 96.5 - 87.7
2-3 137 0 0 0 92.1 + 4.4 (¢ 96.5 - 87.7
3-4 137 3 4 0 90.1 + 4.9 ( 94.9 - 85.2
4-5 130 6 7 0 86.5 + 5.6 (92,1 - 80.9
5 - 118 118

TOTAL 160 20 22 118

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 408 23 6 0 94.3 + 2.3 ( 96.6 - 92.0
1 -2 379 3l 10 0 86.5 + 3.4 (89,9 - 83.1
2-3 338 22 9 0 80.8 + 4.0 ( 84.8 - 76.8
3-4 307 17 6 0 76.3 + 4.3 ( 80.6 - 72,0
4 -5 284 8 16 0 74.1 + 4.5 ( 78.5 - 69.6
5 - 260 260

TOTAL 408 101 47 260

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 756 55 19 0 92.6 + 1.9 (¢ 94.5 - 90.7
1 -2 682 67 8 0 83.6 + 2.7 (86.2 - 80.7
2 -3 607 54 11 0 76,0 + 3.2 (79.1 - 72.8
3-4 542 asg 17 0 70.4 * 3.4 C 73.8 - 67.0
4-5 486 25 43 0 66.6 + 3.5 ¢ 70.2 - 63.1
5 - 418 418

TOTAL 756 240 98 418

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 592 63 5 0 89.3 + 2.5 ( 91.9 - 86.8
1 -2 524 53 6 0 80.2 + 3.3 ( 83.5 - 76.8
2 -3 465 46 7 0 72.2 + 3.7 ¢ 75.9 - 68.5
a-4 412 34 11 0 66.2 * 3.8 ( 70.1 - 62.3
4 -5 367 17 26 0 63.0 + 4.0 ¢ 67.0 - 59.0
5 - 324 324

TOTAL 592 213 55 324

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 501 253 3 0 49.3 + 4.5 ¢ 53.8 - 44.9
1 -2 245 107 3 0 27.7 + 4.0 < 31.7 - 23.6
2-3 136 46 1 0 18.2 + 3.5 € 21.7 - 14.7
3 -4 88 23 4 o 13.3 + 3.1 ¢ 16.4 - 10.2
4-5 61 7 1 o 11.8 + 2.9 ¢ 14.7 - 8.9
6 - 53 53

TOTAL 501 436 12 53

(VR VRVEV] [PXVEVREVRW (VR RV RV A, (R VRV
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2-4. KIBERRLOFHNBIC LI EFR(EHEN) (HB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 384 12 8 0 86.8 £+ 1.8 (98.6 - 95.0
1 -2 364 13 4 0 93.4 £+ 2.6 (95.9 - 80.8
2-3 347 10 4 0 90.7 * 3.0 (93.7 - 87.7
3 -4 333 7 9 0 88.7 * 3.3 (92.0 - 86.4
4 -6 317 11 17 0 86.6 £+ 3.7 (88.2 - Bl1.9
6 - 289 289

TOTAL 384 53 42 289
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 565 32 ] 0 94.3 + 2.0 (96.3 - 92.3
1 -2 524 41 8 0 86.9 £+ 2.9 (89.7 - 84.0
2 -3 475 63 ] 0 77.1 + 3.6 (80.7 - 73.5
3 -4 413 36 13 0 70,2 £+ 3.9 (74.2 - 66.3
4 ~ 5 364 24 as 0 65.4 £+ 4.1 (69.5 - 61.3
5 - 306 305

TOTAL 566 186 74 305
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 25E 5% STD ERROR
0 -1 738 63 22 0 91.3 £ 2.1 (93.4 - 89,3
1 2 654 90 2 0 78.8 * 3.0 (81.8 - 75.7
2 -3 562 60 9 0 76,3 £ 3.4 (73.7 - 66.9
3 -4 493 48 12 0 63.4 £ 3.6 (67.0 - 59.7
4 5 433 32 31 0 68.5 £ 3.7 (62.2 - 54.8
5 370 370

TOTAL 739 293 76 370
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 656X STD ERROR
0 -1 551 64 6 0 88.3 £ 2.7 (81.1 - 85.6
1 -2 481 96 2 0 70.7 £ 3.9 ( 74.6 - 66.8
2-3 383 66 3 0 58.4 £ 4.2 (62.7 - 54.2
3 -4 314 41 13 0 50.6 + 4.3 ( 55.0 - 46.3
4 5 260 27 12 0 45.3 £ 4.3 (49.6 - 40.9
5 - 221 221

TOTAL 551 294 36 221
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 346 169 0 0 §1.2 £ 5.4 (56.5 - 45.8
1 -2 177 91 0 0 24.9 t 4.6 (29.5 - 20.2
2-3 86 31 1 0 15,8 £ 3.9 (19.8 - 11.9
3 -4 54 21 2 0 9.6 £ 3.2 (12.8 - 6.4
4 - 5 31 4 3 0 8.3+ 3.0 (11.3 - 5.3
5 - 24 24

TOTAL 346 316 6 24
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28-1.DukesHMRARIELFE (B, BRFRETYIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR

0-1 250 14 11 0 84.3 £ 3.0 (97.2 - 91.3
1 -2 225 s 4 0 80.5 + 3.8 ( 94.3 - 86.7
Dukes A 2 -3 212 3 1 0 89.2 + 4.0 ( 93.2 - 85.2
3 -4 208 9 7 0 85.3 + 4.6 (¢ 89.8 - 80.7
4 -5 192 6 10 0 82.5 £+ 5.0 (87.6 - 77.6
5 - 176 176
TOTAL 250 41 a3 176
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 886 48 18 0 94.5 + 1.5 ¢ 96.1 - 93.0
Duk 1 -2 820 56 11 0 88.0 £ 2.2 ( 90.2 - 85.8
ukes 2 -3 753 48 13 0 82.4 £+ 2.6 (850 - 79.8
B 3-4 692 34 18 0 78.3 + 2.8 ( 81.1 - 75.4
4-~-5 640 20 47 0 76.7 + 3.0 (¢ 78.7 - 72.8
5 - 573 573
TOTAL 886 206 107 573
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV,Rx2SE 6% STD ERROR
0 -1 630 65 9 0 91.2 + 2.3 ¢ 93.6 - 88.9
1 -2 566 61 9 0 81.3 £+ 3.1 ( 84.4 - 78.2
Dukes C 2 -3 496 53 12 0 72.6 + 3.6 ( 76.1 - 68.9
3 -4 431 a1 9 0 67.2 + 3.8 C 71.0 - 63.4
4-5 391 20 35 0 63.6 + 3.9 ( 67.6 - 59.7
5 - 336 336
TOTAL 630 220 74 336
SURVIVAL RATE Ain= 250 o——o
28_1 N P=0. 01 «P=0.05 B:n= 886 o------ -}.}
Cin= 630 orrrevvrveeens o b
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28-2. Dukes$MERIEHFR (KM, BRMFRIZEAMYIER)

Dukes A

Dukes B

Dukes C

28—2
Dukes * #&15
JEtER

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 2 0 0 0 100.0 =+ 0.0 (100.0 -100.0
2-3 2 1 0 0 60.0 £ 70.7 <(120.7 --20.7
3 -4 1 0 0 0 60.0 = 70.7 (120.7 --20.7
4 -5 1 1 0 0 000+ 00 ¢ 0.0- 0.0
6 - 0 0

TOTAL 2 2 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 31 4 1 0 86.9 £ 12.2 (99.1 - 74.7
1 -2 26 6 1 0 66.4 £ 17.3 ( 83.8 - 49.1
2 -3 19 3 0 0 66.0 £ 18.3 ( 74.3 - 37.6
I -4 16 4 1 0 41.56 = 18.4 (60.0 - 23.1
4 -5 11 3 0 0 30.2 + 17.4 ( 47.6 - 12.8
6 - 8 8

TOTAL 31 20 3 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 124 34 1 0 72.6 £+ 8,0 (80.5 - 64.4
1 -2 89 27 2 0 50.2 £ 9.0 (58.3 - 41.2
2 -3 60 17 1 0 35.9 £+ 8.7 ( 44.6 - 27.1
3 -4 42 12 2 0 26.4 + 8.0 (33.4 -17.4
4 - 6 28 3 1 0 22,6 £+ 7.8 (30.4 - 14.9
6 - 24 24

TOTAL 124 93 7 24

SURVIVAL RATE Ain= 20—
B: .
C:
%
100

50 |

[RVEVRVEW) (R VR
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28-3. DukesiIRAIEHFR (E. BHMFASTIIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 507 18 10 0 96.4 £ 1.7 ¢ 98.1 - 94.8
1 -2 479 20 4 0 92.4 £ 2.4 ( 94.8 - 90.0

Dukes A 2 -3 455 10 6 0 90.3 £ 2.7 (€ 93.0 - 87.7
3-4 439 9 14 0 8.4 £ 2.9 ( 91.3 - 85.6
4-5 416 12 26 0 86.8 + 3.2 ( 89.0 - 82.6
5 - 378 378
TOTAL 507 69 60 378
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 779 43 17 0 94.4 £ 1.7 ¢ 96.1 - 92.8
1 -2 719 57 6 0 86.9 + 2.4 ( 89.3 - B4.5

Dukes B 2 -3 666 59 10 0 79.0 £ 3.0 ¢ 82.0 - 76.1
3-4 587 47 19 0 72.6 + 3.3 ( 75.9 - 69.3
4-5 521 24 36 0 69.1 £ 3.4 ¢ 72.5 - 65.7
6 - 461 461
TOTAL 779 230 88 461
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 747 65 15 0 91.2 £ 2.1 ¢ 93.3 - 89.1
1 -2 667 121 3 0 74.6 + 3.2 (¢ 77.8 - 71.4

Dukes C 2 -3 543 89 6 0 62.3 + 3.6 ¢ 65.9 - 58.7
3 -4 448 56 10 0 64.4 + 3.7 ( 68.2 - B0O.7
4 -5 382 42 30 0 48.2 * 3.7 (€ 62.0 - 44.5
5 - 310 310
TOTAL 747 373 64 310

_ SURVIVAL RATE

28 3 §P=Q, Gl = P=0.05

Dukes - B

b=g
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28-4. DukessMERILEHE(EM. BRFHIFELTIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
-2 5 0 1 0 100.0 £ 0.0 <(100.0 -100.0
Dukes A 2-3 4 2 0 0 50.0 £ 50.0 (100.0 - 0.0
3 -4 2 0 0 0 50.0 £ 50.0 (100.0 - O.0
4 - 5 2 0 0 0 60.0 £ 50.0 (100.0 - 0.0
6 - 2 2
TOTAL 5 2 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 44 9 0 0 79.6 £ 12,2 (91.7 - 67.4
1 -2 35 9 0 0 69.1 £ 14.8 ( 73.9 - 44.3
Dukes B 2 -3 26 5 2 0 47.3 £ 15.2 ( 62.4 - 32.1
3 -4 18 5 2 0 34.1 £ 14.8 ( 49.0 - 19.3
4 - 5 12 2 3 0 27.6 + 14.6 ( 42.2 - 13.1
5 - 7 7
TOTAL 44 30 7 7
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 6% STD ERROR
0o -1 184 52 3 0 71.6 £+ 6.7 (78.2 - 64.8
1 -2 129 45 2 0 46.4 + 7.4 ( 53.8 - 38.9
Dukes C 2 -3 82 25 1 0 321 7.0 ¢ 3%.1 - 25.1
3 -4 656 17 ] 1] 22,4 + 6.3 (28.7 - 16.1
4 -5 39 ] 1 0 17.2 £+ 5.7 (22,8 - 11.5
6 - 29 29
TOTAL 184 148 7 29
SURVIVAL RATE Ain= 5o
28_4 Bin= 44 e-
Cin= 184 o..
Dukes « BB x
N 100 7=
FEER :
50 | .\

7
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29-1. Astler-Coller3R(C L 2EFR (B, BMFeABYER)

C.

C.

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 118 3 4 0 87.4 £ 2.9 (100.4 - 94.5
1 -2 111 3 1 0 84.8 £ 4.2 (98.8 - 90.6
2 -3 107 0 0 0 84.8 + 4.2 (98.9 - 80.6
3 -4 107 4 3 0 91.2 £+ 6.3 (96.5 - 85.8
4 -6 100 3 4 0 88.4 £ 6.1 (94,4 - 82,3
6 - 93 93

TOTAL 118 13 12 93

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 132 11 7 0 91.4 =+ 4.9 (96.4 - 86.5
1 -2 114 6 3 0 86.6 £+ 6.1 (92,6 - 80.5
2 -3 105 3 1 0 84.1 £ 6.5 (90.6 - 77.6
I -4 101 5 4 0 79.8 £ 7.2 (87.1 - 72,6
4 -5 92 3 6 0 77.1 £ 7.6 (84.8 - 69.56
5 - 83 83

TOTAL 132 28 21 83

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 886 48 18 0 84.6 + 1.6 (96.1 - 983.0
1 -2 820 56 11 0 88.0 + 2.2 (90.2 - 85.8
2 -3 763 48 13 0 82,4 £ 2.6 (85.0 - 79.8
I -4 692 34 18 0 78,3 £+ 2.8 (8l.1 - 75.4
4 -6 640 20 47 0 76.7 £ 3.0 (€ 78.7 - 72.8
65 ~ 573 573

TOTAL 886 206 107 673

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 43 3 3 0 92.8 + 8.0 (100.8 - 84.7
1 -2 37 1 1 0 90.2 £+ 9.3 (99,5 - 80.9
2-3 356 1 1 0 87.6 £ 10.4 (¢ 98.0 - 77.2
3 -4 33 0 1 0 87.6 £ 10.4 (988.0 - 77.2
4 -5 32 2 0 0 82.1 £ 12.3 (94.4 - 69.8
6 - 30 30

TOTAL 43 7 6 30

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 587 52 6 0 81.1 £ 2.4 (93.56 - 88.7
1 -2 529 60 8 0 80.7 £ 3.3 (84.0 - 77.4
2-3 461 52 11 0 71.6 £+ 3.8 (76.2 - 67.7
I -4 398 31 8 0 66,9 + 4.0 (69.8 - 61.8
4 -6 359 18 36 0 62.4 =+ 4.1 (66.5 - 68.3
6 - 306 306

TOTAL 587 213 68 306
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29-2. Astler-Coller 3 EIC X 2 EFRFER. BMFAIFEETEIER)

B,

B

C.

C:

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0,0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
2 -3 ] 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
3 -4 ] 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 56X STD ERROR
-1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 0 0] 100.0 £+ 0.0 (100.0 -100.0
2 -3 2 1 0 0 §0.0 + 70.7 (120.7 --20.7
3-4 1 () ()} 0 §0.0 £ 70.7 (120.7 --20.7
4 -5 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 2 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0-1 31 4 1 ()} 86.9 = 12,2 (99.1 - 74.7
1 -2 26 6 1 0 66.4 + 17.3 ( 83.8 - 49.1
2 -3 19 3 0 0 56.0 + 18.3 (¢ 74.3 - 37.6
3 -4 16 4 1 0 41.5 + 18.4 ( 60.0 - 23.1
4 -5 11 3 0 0 30.2 + 17.4 (€ 47.6 - 12.8
5 - 8 8

TOTAL 3t 20 3 8

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
1 -2 2 0 0 0 66.7 £ 54.4 (121.1 - 12,2
2 -3 2 0 0 ] 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
4 -5 2 1 1 0 22,2 + 54.4 C 76.7 --32.2
5 - 0 0

TOTAL 3 2 1 )
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 121 a3 1 0 72.6 + 81 (80.7 - 64.5
1 -2 87 27 2 0 49.8 £+ 9,2 ( 59.0 - 40.7
2 -3 58 17 1 0 35.1 + 8.8 ( 43.8 - 26.3
3 -4 40 12 2 0 24.3 + 8.0 (323 - 16.3
4 -5 26 2 0 0 22.4 + 7.8 (30.2 - 14.6
5 - 24 24

TOTAL 121 91 6 24
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29-3. Astler-Coller 3 (C L2 EFX(ER. BRFAVETYIER)

B:

B.

C.

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 148 2 2 0 98.6 + 1.9 (100.6 - 96.7
1 -2 144 & 1 0 94.5 + 3.8 ( 98.3 - 90.7
2-3 137 1 2 0 93.8 + 4.0 ¢ 987.8 - 89.8
3 -4 134 2 3 0 92.4 + 4.4 ( 96.8 - 88.0
4-5 129 1 8 0 91.7 £ 4.6 (96.3 - 87.0
6 - 1189 118

TOTAL 148 12 17 119

YEAR OF ALIVE AT DIED 'IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD' ERROR
0 -1 359 16 8 0 95.6 £ 2.2 (97.7 - 93.3
1 -2 335 14 3 0 91.6 £+ 3.0 (94,5 - 88.5
2 -3 318 9 4 0 88.9 t 3.4 ( 92.2 - 85.6
3 -4 305 7 11 0 86.8 + 3.6 ( 90.4 - 83.2
4-5 287 11 17 0 83.4 £ 4.0 (87.4 - 79.3
5 - 259 259

TOTAL 359 57 43 259

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 779 43 17 0 94.4 £+ 1.7 (96.1 - 92,8
1 -2 719 57 6 0 86.9 = 2.4 (€ 89.3 - 84.5
2 -3 666 59 10 0 79.0 + 3.0 (820 - 76.1
3-4 587 47 18 0 72.6 £+ 3.3 (75.9 - 69.3
4 -5 521 24 36 0 6.1 + 3.4 (72,5 - 65.7
5 - 461 461

TOTAL 779 230 88 461

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 116 6 3 0 94.7 + 4.2 (98.9 - 90.5
1 -2 106 6 0 0 83.4 + 6.8 (952 - 83,5
2 -3 100 10 2 0 80.3 £ 7.5 ( 87.8 - 72.8
3 -4 88 6 1 0 74.8 £ 8.2 (83.1 - 66.6
4-5 81 10 6 0 66.3 £ 8.1 ( 74.4 - 56.2
5 - 66 66

TOTAL 115 s 11 66

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE &% STD ERROR
0 -1 632 59 12 0 90.6 + 2.3 (92.9 - 88,2
1 -2 561 116 3 0 72.0 + 3.6 ( 75.6 - 68.3
2 -3 443 79 4 0 59.1 + 4.0 ( 63.0 - 55.1
3-4 360 50 8 0 60.8 + 4.0 ( 54.8 - 46.7
4-5 aoi 32 25 0 45.1 £ 4.1 (49.2 - 41.1
5 - 244 244

TOTAL 632 335 53 244
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29-4. Astler-Coller$E(C & 34 FER(ERB. BHiFa3EamUER)

B.

C.

C.

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 2 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 2 o] 1 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 = 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
4 -6 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 2 0 1 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 3 0 0 0 100.0 = 0.0 (100.0 -100.0
1 -2 3 o] 0 0 100.0 =+ 0.0 (100.0 -100.0
2 -3 3 2 0 0 33.3 + 54.4 ( 87.8 --21.1
3 -4 1 0 0 0 33.3 + 54.4 (87.8 --21.1
4 -6 1 0 0 0 33.3 + 64.4 ( 87.8 --21.1
65 - 1 1

TOTAL 3 2 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 44 9 0 0 78.6 £ 12. 2 ( 9j1.7 - 67.4
1 -2 35 9 0 0 69.1 + 14.8 ( 73.9 - 44.3
2 -3 26 5 2 0 47.3 = 15.2 (62.4 - 32,1
3 -4 19 6 2 0 34.1 + 14.8 ( 49.0 - 19.3
4 -6 12 2 3 0 27.6 £ 14.6 ( 42.2 - 13.1
6§ - 7 7

TOTAL 44 30 7 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 17 3 1 0 81.8 + 19.0 (100.8 - 62.8
1 -2 13 2 1 0 68.7 £ 23.3 (92.0 - 45.4
2-3 10 3 0 0 48.1 = 25.7 ( 73.8 - 22.4
3 -4 7 2 0 0 34.4 £ 24.7 (59.0 - 8.7
4 -5 6 0 0 0 34.4 £ 24.7 (5S.0 - 8.7
6 - 6 3

TOTAL 17 10 2 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 167 49 2 [ 70.5 £+ 7.1 (C77.6 - 63.4
1 -2 116 43 1 0 44.2 + 7.7 (52.0 - 36.56
2-3 72 22 1 0 30.6 + 7.2 ( 37.8 - 23.4
3 -4 48 15 0 0 21.3 + 6.4 (27.7 - 14.8
4 -5 34 8 1 [ 16,6 £+ 5.7 (21.3 - 8.8
5 - 24 24

TOTAL 167 138 5 24
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29—1
Astler-Coller
b= Y 1]

29—2
Astler-Coller
8B - FERR

SURVIVAL RATE
# P=0, 01 = P=Q. 05

Ainw 118 oo
Bljn= 132 o...... }}
B2jn= 886 o-.ouree

Clinm 43 e ———o
C2tnm 687 4. —.—.—s I

° v z Y L TYEARS
SURVIVAL RATE Bl:in® 2ecce--- -
B2n= 31 geeeneennn
Clin® 3o —— =
X C2:nm 121 oo e
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29—3
Astler-Coller
B - 18R

29—4
Astler-Coller
B - JEaR

SURVIVAL RATE
& P=0.01 wP=0.05

SURVIVAL RATE A in=
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